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Олимпиада школьников Санкт-Петербургского государственного университета 

Иностранные языки 

Отборочный этап 

 

В 2019-2020 учебном году отборочный этап Олимпиады школьников СПбГУ по 

иностранному языку состоял из 50 заданий закрытого типа. Задания по каждому из 

языков составлялись с учетом специфики его изучения. 

Всего было представлено три варианта заданий по каждому из языков (общее 

количество – 12). Вариант, представляемый участнику, составлялся путем случайного 

выбора одного из трех текстов (задания 1-10 и задания 11-25) и  

- вопросов блоков III, IV, V (для английского, французского и испанского языков); 

- вопросов 26-50 (для немецкого языка). 

 

За каждый верный ответ участнику начислялось 2 балла. 

Максимальный балл – 100 баллов. 

Верные ответы выделены цветом. 

 

Английский язык 

 

Вариант 1 

 

I.                       Read the text 

 

DON’T CRITICISE EXAMS: THEY ARE A LESSON IN LIFE 

George Marsh, head of posh Dulwich College in London, made his rousing 

speech at the annual prep school conference where he spoke of the pressures facing 

young people. Above all, he said, we had reached a stage where the obsession with 

passing exams was ‘killing the fun’ of school. 

We’ve all read this before. We’ve heard of the burnout kids, pushed by ambitious 

parents, and gasped at the stories of the hothouse flower children who wilt in the real 

world. In our child-obsessed society, the worst sin of all is to stop a child having ‘fun’. 

Children must be endlessly indulged, treated with kid gloves, escorted to amusement 

parks, given computer games and showered with pocket money. Heaven forbid that they 

should be told to study, strive and compete – words which seem to have taken on the 

quality of blasphemy. 

But whoever said school was meant to be fun? Yes, school is a place where a 

child develops and a rounded curriculum is vital. Our children should play sport, do 

drama, join choirs, hang out at playtimes. The rest of the time, however, they are there 

to learn and to achieve some basic qualifications that will, whether they want to accept 

it or not, cushion them when life gets really hard. Yet, in the current climate, saying that 

exams matter is tantamount to saying that our children should spend their teenage years 

at an Army boot camp. Cosseting children in cotton wool does them few favours in the 

long run. 

Mr. Marsh is right when he says that we should shelter our children from the pressures 

of growing up too soon but there is a difference between sheltering and smothering. If he 

really wanted to do us all a favour in his speech, he should have told parents to get real. 
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School can be tough and exams always are but then so is life – and it’s best that children 

learn that particular lesson as early as possible. 

 

1) Mark the correct answer: 

 

1. According to the text, what was George Marsh’s speech devoted to? 

a)  the drug addiction; 

b)  school problems; 

c)  difficulties facing young people; 

d)  exams. 

 

2.  What are children supposed to do at school, according to the author of the text? 

a)  Children should play sport, do drama, join choirs, hang out at playtimes; 

b)  Children are at school to learn and to achieve some basic qualifications; 

c)  Children should take exams at school and prepare for them; 

d)  Children should both have time for studies and rest. 

 

3.  What does the author agree with George Marsh about? 

a) Adults should protect children from the pressures of growing up too soon; 

b) Children should be endlessly indulged, treated with kid gloves, escorted to amusement 

parks; 

c) Children should be given computer games and showered with pocket money; 

d) all of the above. 

 

4.  What is school meant for, according to the author? 

a)  School is a place where a child develops; 

b)  School is a place where children should play sport, do drama, join choirs, hang out at 

playtimes; 

c)  School is a place where children should learn and achieve some basic qualifications;  

d)  School is a place where children should play sport, do drama, join choirs, hang out at 

playtimes and at the same time, learn and achieve some basic qualifications. 

 

5.  Why does the author of the text consider difficulties at school to be a positive thing? 

a)  Life is not easy; exams and other difficulties prepare students for real life; 

b)  Exams help students to become tough; 

c)  The author of the text doesn’t have any sympathy for students; 

d)  Students should not be sheltered from every possible difficulty or they’ll grow weak. 

 

2) Mark the following statements as TRUE or FALSE: 

 

6.  Does the author of the text share this statement: In our child-obsessed society, the worst 

sin of all is to stop a child having ‘fun’? 

a) TRUE 

b) FALSE 

 

7.  According to the author of the text, children should not be told to study, strive and 

compete. 
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a) TRUE 

b) FALSE 

 

8.  The author of the text is against exams at school. 

a) TRUE 

b) FALSE 

 

9.  Cosseting children in cotton wool does not finally do them favours. 

a) TRUE 

b) FALSE 

 

10.  The author makes a difference between sheltering and smothering children. 

a) TRUE 

b) FALSE 

 

 

II. For questions 11 – 25, read the text below and decide which answer a), b), c) or d) 

best fits each space. 

 

The French Impressionists and The Russian ‘Peredvizhniki’ 

 

Many art critics believe that French Impressionists and Russian artists called ‘Peredvizhniki’ 

had  more  (11) _______ common than we think because both of them turned against 

academism in painting. 

It all started in 1860s, when the young painters, who happened to become great artists later, 

were (12)_________ art schools. Back at those times the painting classes were totally 

academic and based mostly on the ideals of Ancient Greece, which was characteristic (13) 

_____________ that time.  For instance, Claude  Monet  (14) ____________ that  his art 

teacher asked  him  to always  keep  the  classical  antique models  (15) _____________ mind 

while painting, no matter what the canvas was dedicated to.  It was annoying young Monet, 

so he decided to leave  the  Academy  together with  his  friends and form new ideals of 

painting. 

Practically at the same time a young  Russian  painter,  Ivan  Kramskoy,  complained 

about  the  same  thing (16) _________ to  him  at  the  Arts Academy  in  Russia, where he 

was also told to find inspiration only in  the works of antique  masters.  Being frustrated, Ivan 

Kramskoy left the Academy with some of his friends just as Monet did and (17) __________ 

his own style of  painting.  Together with Ivan  Shishkin, Ilya  Repin,  and Vassily  Surikov 

the new art  society was born, which was later called ‘Peredvizhniki’. The success of the 

young painters was (18) _______________to come. 

It goes without saying that  (19) ___________ first  both French and Russian rebellious 

painters were  (20) _____________  by  other artists due to the originality of new 

methods.  For example, their  pictures  were  not  displayed  (21) _____________  

the  exhibitions  in big cities.  But  (22) _____________ the  art  society  began  to appreciate 

their unique  manner of painting.  In 1870s they started to successfully exhibit their art works 

and were approved by art lovers. In  1880s  the  Impressionists and the  Peredvizhniki finally 

enjoyed critical (23) _________. Many people (24) __________ them fascinating, unique and 
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mesmerising. Even (25) ___________ they experienced a serious crisis later, these 

movements remain bright examples of  French and Russian artistic life. 

 

  A B C D 

11 in at with on 

12 visiting studying coming attending 

13 in for with of 

14 claimed wondered begged offered 

15 within in on at 

16 happened having happen happening had happening 

17 did developed happened achieved 

18 yet already still just 

19 on in at for 

20 refused rejected denied cancelled 

21 at in on to 

22 initially accordingly slowly gradually 

23 claim acclaim disclaim misclaim 

24 found decided meant turned out 

25 though still because now 

 

III. Choose the correct word/words to complete the sentence: 

 

26.  It’s safe to hide here. We won’t give you______. 

a. out 

b. in 

c. away 

d. over 

27. Jerry isn’t fat at all. _______, he’s quite skinny. 

a. In any case 

b. By rights 

c. In practice 

d. On the contrary 

28. No movement or voice ________when she opened the door. 

a. has heard 

b. was heard 

c. had been heard 

d. will be heard 

29. The dress will be ready by Monday, __________? 

a. will it 

b. is it 

c. wont’t it 

d. will he 

30. Has Tony’s new book _______yet? 
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a. made up 

b. come out 

c. set about 

d. drawn up 

31. Luckily by the time we got there the painting________. 

a. hadn’t been sold 

b. was being sold 

c. wasn’t sold 

d. won’t be sold 

32. There were dark circles under her eyes as if she__________ at all. 

a. didn’t sleep 

b. isn’t sleeping 

c. hadn’t slept 

d. won’t sleep 

33. We are enjoying our holiday, though the weather _______be better. 

a. could 

b. must 

c. had to 

d. ought 

34. We watched the jockeys______around once more. 

a. to ride 

b. ride 

c. be ride 

d. ridden 

35. I don’t speak much French. Only ______ words. 

a. a few 

b. a little 

c. little 

d. lots of 

IV.   Read the sentences with underlined words and phrases and find the wrong word or 

phrase  (a, b, c or d) which needs correction. 

 

36. Our town had been recycling paper and bottles for years before the 

government introduced recycling regulations, and next month the town recycling 

center will be operating for ten years. 

a. had been recycling 

b. introduced 

c. next month 

d. will be operating 

37. Through various tests doctors are discovering that exposure to cold weather doesn’t 

make a person catch a cold. 

a. Through various tests 

b. are discovering 

c. exposure to 
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d. doesn’t make a person catch 

38. Just as I got ready to go and call for the horse and trap, your telegram came. 

a. Just as I got ready 

b. call for 

c. trap 

d. came 

39. No matter how much you may be tired, you have to go on to try. 

a. No matter how much 

b. may be tired 

c. have to 

d. to try 

40. He spoke as though all the other people who worked with him were merely 

assistants who didn’t know exactly what he is doing. 

a. as though 

b. the other people 

c. were merely assistants 

d. he is doing 

 

V. Read the sentences below and decide which answer a), b), or c) fits each space. 

 

41. The _____________ was rotten right through. 

a. pear 

b. pair 

c. pare 

42. He would __________ upon any excuse for his being late. 

a. seas 

b. sees 

c. seize 

43. Let every man ____________ the bridge he goes over. 

a. prays 

b. preys 

c. praise 

44. Air pollution will soon ____________ above safety levels. 

a. saw 

b. sore 

c. soar 

45. A ___________ print in the dust was a sign that a tiger was close. 

a. pore 

b. pour 
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c. paw 

46. Ants follow a __________ trail laid down previously. 

a. sent 

b. cent 

c. scent 

47. Royal Tuscan will continue to produce a wide variety of fine bone china __________. 

a. where 

b. wear 

c. ware 

48. He wants the world to know his son did not die in ____________. 

a. vein 

b. vain 

c. vane 

49. The house disappeared from ___________ as we rounded a corner. 

a. site 

b. sight 

c. cite 

50. He gave free ___________ to his imagination. 

a. rain 

b. rein 

c. reign 

Вариант 2 

 

 

I.                       Read the text 

 TOT.COM  

 

 Every week, a group of British pupils file into the class to start their lessons, turn on 

their computers and obediently follow their teacher’s instructions. For an hour, they are 

taught mouse techniques, keyboard skills, and reading and writing, using the computer. 

However, these are toddlers, hardly out of nappies. Next term they will move up a class to 

begin instruction in computer science, just months after they have celebrated their fourth 

birthday. 

At Ryde College, they take the idea that “it’s never too young to start” very seriously indeed. 

Since the college opened in 1982, more than a thousand pupils have achieved exam results at 

an earlier than usual age. 

The college was founded by a former university lecturer. He started offering home classes 

after he helped his son to pass a computer GCSE at the age of fourteen, rather than the 
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normal sixteen. So Dr Ryde, after the neighbourhood learned about the results, moved to a 

special center to cope with the demand for his services. To the man who happily puts seven-

year olds in for GCSEs, ‘The Technology for Toddlers’ classes were the next logical step. 

They aimed at giving the eighteen-month to three-year-old pupils a head start in writing, 

reading and communication using the computer. The parents of these young computer whiz 

kids have no qualms about giving their children a head start. 

Whereas toddlers are tutored during the day, the older children attend either in the evenings 

until as late as 9 p.m. or at weekends. So, there is an issue about when they get to run around 

and climb trees. There is also the question of why these children need to take additional 

exams, especially at such a young age. The school was accused of pushing young children 

into sitting exams for publicity. 

Dr Ryde thinks “it’s a crime to hold children back. The only thing we are exploiting is their 

ability to learn. All of us here are committed to education, not publicity”. Dr Ryde claims 

there is no great secret to their success other than small class sizes and traditional schooling 

methods. ‘All too often the first years in secondary are lost years and teachers waste them 

getting all the children up to the same level.” 

 

 

1) Mark the correct answer: 

 

1. How long do lessons at Dr Ryde’s school last? 

a)  2 hours;  

b)  half an hour; 

c)  one hour; 

d)  an hour and a half. 

 

2.  What motivated Dr Ryde to open a school for toddlers? 

a)  He helped his son to pass a computer GCSE at an earlier age; 

b)  The college was founded by a former university lecturer who made experiments with 

children; 

c)  It was a challenge for Dr Ryde, who helped seven-year olds to pass exams, to start ‘The 

Technology for Toddlers’. 

d)  He started the programme for publicity. 

 

3.   How old are kids who attend ‘The Technology for Toddlers’? 

a)  from 2 to 4 years; 

b)  from eighteen months to three years; 

c)  from 3 to 4 years; 

d)  from 1- 3 years. 

 

4.   What criticism does Dr Ryde’s school face? 

a)   The school makes children learn at an early age; 

b)   There is a question why these children need to take additional exams; 

c)   The school pushes young children into sitting exams for publicity; 

d)   all of the above. 

 

5.   What is the secret to the school success, according to the text? 
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a)   The school is committed to education; they have small class sizes and traditional 

schooling methods; 

b)   At other schools, teachers waste time getting all the children up to the same level; 

c)   The school is exploiting children’s ability to learn; 

d)   The school uses special schooling methods. 

 

2) Mark the following statements as TRUE or FALSE: 

 

6.  The pupils at Dr Ryde’s school are taught mouse techniques, keyboard skills, and reading 

and writing, using the computer. 

a) TRUE 

b) FALSE 

 

7.  Children at Dr Ryde’s school are 5 years old. 

a) TRUE 

b) FALSE 

 

8.  Nowadays, the college is over forty years old. 

a) TRUE 

b) FALSE 

 

9.  Since the college opened, more than a hundred pupils have achieved exam results at an 

earlier than usual age. 

a) TRUE 

b) FALSE 

 

10.  Whereas toddlers study during the day, the older children attend either in the evenings or 

at weekends. 

a) TRUE 

b) FALSE 

 

II. For questions 11 – 25, read the text below and decide which answer a), b), c) or d) 

best fits each space. 

 

India and the English Language 

 

The British started to rule India in 1858, and at that time they were looking  (11) ________ 

well-educated  Indian  people to be the (12) _____________ called mediators between the 

countries. They decided to address high caste Indians to work  (13) _____________ 

them.  The Government  suggested  (14) __________   a special class of Indian people who 

could help them to rule India. (15) ____________ that time it were the English who invested 

in Indian  universities, but they needed people to get British education. So, the British 

Government started to create their universities in India, and the Indians often 

(16) _____________ their  education  in  British  universities. Moreover, the English 

missionaries, who arrived to India, (17) ______________ different kinds of schools for 

aborigines. 
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Later, English turned (18)_________   to  become  the  first  language  in Indian  education. It 

was spoken not only on special (19) ____________, but (20) ___________  everyday basis. 

The Indian rulers of that period of time  also  supported  developing of the  English  language 

in their country and  claimed  it  to  be  (21) ____________ all one of the ways 

to  victory.  Indians who  spoke  English well were considered the new elite.  The English 

education kept developing, and new schools  in  which  the  main language was  English 

continued to be  set  (22) ____________.  According  (23) _______________  the  British 

law,  the  language  of  education  was  English  and  (24) ___________  schools  with 

advanced learning of  English  were thought to be the best choice for ambitious young 

Indians.  

Only years later the English  language (25) _____________  a  status  of  an 

assistant  language, but  it is  still an important language in India, spoken by the majority of 

its people. 

 

  A B C D 

11 for of with on 

12 like so as such 

13 for by on at 

14 create to create creating created 

15 in on at for 

16 obtained acclaimed provided enrolled 

17 authorized settled installed established 

18 out in up down 

19 cases dates events occasions 

20 in for on by 

21 above before beyond over 

22 down on up in 

23 for of to at 

24 although furthermore inspite therefore 

25 gave was  given had given was giving 

 

III.  Choose the correct word/words to complete the sentence: 

 

26. Mr. Palmer _____________ a cup of coffee whenever he calls. 

a. has always been given 

b. was always been given 

c. is always given 

d. is being given 

27. The stadium was packed________people for the athletics meeting. 

a. with 

b. for 

c. by 

d. about 

28. That _______be the hotel Jane told us about. 

a. mustn’t 
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b. can’t 

c. shouldn’t 

d. isn’t 

29. Whatsoever happens, I shall stand________you. 

a. with 

b. near 

c. by 

d. about 

30. ________ of my friends have seen this comedy, as far as I know. 

a. everyone 

b. none 

c. no one 

d. nobody 

31. The famous explorer___________ in America since the beginning of autumn. 

a. is travelling 

b. travels 

c. has been travelling 

d. will travel 

32. Can you describe the situation in_________words? 

a. little 

b. a little 

c. a couple 

d. a few 

33. I like this book and I think it is worth_________. 

a. reading 

b. read 

c. being read 

d. to read 

34. Jack won’t be able to do this work unless you____________him. 

a. will help 

b. don’t help 

c. help 

d. won’t help 

35. Money spent on brain ___________never spent in vain. 

a. are 

b. isn’t 

c. won’t 

d. is 

IV. Read the sentences with underlined words and phrases and find the wrong word or 

phrase  (a, b, c or d) which needs correction. 

36. It’s a beautiful house, and I would buy it if I had the money, but I’m hard up now 

and can’t afford buying it. 
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a. would buy 

b. had 

c. I’m hard up 

d. can’t afford buying 

37. If they were to offer me the job, I would turn it up, because I’m not sure that I can 

cope with it. 

a. were to offer 

b. the job 

c. would turn it up 

d. I can cuoe with it 

38. The hotel, that was miles from anywhere, was full of guests who had gone 

there to admire the scenery. 

a. that was miles from anywhere 

b. full of guests 

c. had gone there 

d. admire the scenery 

39. A detective to whom she gave her statement then disappeared, and she went to the 

office to answer the letter she had received. 

a. A detective 

b. then disappeared 

c. went to the office 

d. had received 

40. Despite I like fish, I don’t like catching them myself, so I seldom go fishing. 

a. Despite 

b. like fish 

c. catching them 

d. go fishing 

V. Read the sentences below and decide which answer a), b), or c) fits each space. 

41. They hurried into the city to say good – __________ to us. 

a. by 

b. bye 

c. buy 

42. Your seat is in the __________ part of the aircraft. 

a. for 

b. four 

c. fore 

43. As you __________ so shall you reap. 

a. so 

b. sow 

c. sew 

44. He is from the __________ of Man in the Irish Sea 
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a. I’ll 

b. Isle 

c. Aisle 

45. A small boy ___________ on the elephant's back. 

a. road 

b. rode 

c. rowed 

46. A ___________ epidemic is sweeping through Moscow. 

a. flu 

b. flew 

c. flue 

47. An apple __________ is the part of an apple left after the flesh has been eaten. 

a. core 

b. corps 

c. caw 

48. I always ___________ my words before speaking. 

a. whey 

b. weigh 

c. way 

49. It's ___________ in the house, even when it's sunny outside. 

a. Chile 

b. chili 

c. chilly 

50.  __________ tree stood in the graveyard, where Lord Voldemort was resurrected. 

a. yew 

b. you 

c. ewe 

Вариант 3 

I. Read the text 

 

HOW HARVARD GETS ITS BEST AND BRIGHTEST 

 

Students work hard to get into this elite college. But so does the admissions 

committee. In the US, few competitions are more cut-throat than the college 

admissions game. Meanwhile, the elite colleges have been stepping up their efforts to 

attract the best and brightest students – the prized pupils who will help increase the 

prestige of their campuses. 

Thus, for the new academic year Harvard received a near-record 23,000 applications. 

The real surprise, however, is how hard Harvard works behind the scenes to achieve 

these amazing results. William Fitzsimmons, Harvard’s dean of admissions, oversees 

a carefully considered three-part battle plan. 
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The first phase begins in the spring, when Harvard mails letters to high school juniors 

– all with stellar test scores – suggesting they consider applying to America’s best-

known college. Each year, Harvard’s admissions team tours 140 US cities, as well as 

other places in Latin America, Europe, Africa and the Far East. The math department, 

for instance, starts to identify math geniuses by keeping a close eye on kids doing 

well in math contests. Harvard has hired fifteen to twenty low-income students to call 

and email promising low-income high school students. Their job is to oppose the 

“impression that Harvard is only for the rich and elite”. 

 Later, they also interview nearly all applicants. By then, Fitzsimmons will be deep 

into the second phase of his plan: sifting through the thousands of applicants. Every 

application is rated on a scale of one (the best ever) to six (the worst ever). Once the 

final decisions have been made, Fitzsimmons’ team moves to phase three: an all-out 

push to convince the chosen few to attend Harvard. Professors, graduates and 

students are all recruited to start calling the admitted. And, in mid to late April over 

half of those who were accepted typically show up at Harvard for an elaborate 

weekend. The Harvard pitch is clearly effective; the strategy has clearly helped drive 

Harvard to go to enormous lengths to find the best and brightest. 

 

1) Mark the correct answer: 

 

1. According to the writer, what is the policy to attract the best and brightest students to 

Harvard? 

a)  To send letters to the best high school juniors suggesting they consider applying to 

America’s best-known college 

b)  To interview the applicants; 

c)  To convince the chosen applicants to attend Harvard; 

d)  all of the above. 

 

2.  How early do departments start selecting the best students? 

a)  When would-be applicants are still at school and show brilliant results in contests; 

b)  When applicants are in kindergartens and show brilliant results; 

c)  When applicants are at primary school and show brilliant results; 

d)  When applicants have just finished school. 

 

3.  How many low-income students does Harvard hire to call and email, according to the 

text? 

a) 20-30; 

b) 50-60; 

c) 15-20; 

d) 5-10. 

 

4.  What does phase 3 of the battle-plan involve? 

a)  Interviewing the applicants; 

b)  Giving tests to the applicants; 

c)  Rating applicants and convincing the best to attend Harvard;   

d)  Celebrating the admission. 
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5.  Who is involved in calling the applicants and convincing them to select Harvard? 

a)  Professors; 

b)  Graduates; 

c)  Students; 

d)  Professors, graduates and students. 

 

2) Mark the following statements as TRUE or FALSE: 

 

6.  Only students work hard to enter Harvard. 

a) TRUE 

b) FALSE 

 

7.  Harvard’s admissions team tours only American cities. 

a) TRUE 

b) FALSE 

 

8.  Harvard is the college only for the rich and elite. 

a) TRUE 

b) FALSE 

 

9.  Every application is rated on a scale of one to six. 

a) TRUE 

b) FALSE 

 

10. Over half of those who were accepted typically come to study at Harvard. 

a) TRUE 

b) FALSE 

 

II. For questions 11 – 25, read the text below and decide which answer a), b), c) or d) 

best fits each space. 

 
A Facebook party which turned out to be a disaster 

 
The whole story started  (11) ________ a  plan  for  a  usual  birthday  celebration.  A Danish 

girl called Merthe Weusthuis  planned to celebrate her 16
th

 birthday with  her nearest and 

dearest  in her house in a little Danish town.  No wonder this 15-year-old teenager 

decided  to  send  (12) ___________  invitations to her closest friends via her favourite social 

network,  Facebook.  Everything seemed settled, but  Merthe  (13) ___________ one  huge 

mistake:  she  didn’t (14) ___________ sure that she marked the event as ‘private’  (15) 

___________ Facebook. So, Merthe’s  invitations were accidentally sent to hundreds and 

hundreds of people. It comes as no surprise that the number of people wanting to visit the 

party snowballed (16) _____________ an avalanche. Her invitation was 

(17)____________  seen  by  (18)__________ least 200 000 people. 
To make matters (19)___________, some people launched an advertising campaign 

to  promote  Merthe’s  party  by  (20) __________  of  Twitter  and Instagram, and even 

created T-shirts with Merthe’s  face. There started a real riot. Since all that happened without 
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Merthe’s knowledge, it goes without saying, that the campaign became a huge scandal as 

soon as it was noticed. To handle the scandal, Facebook organised a police raid a couple 

of  days  after  the  riot which (21) ___________ investigations and even arrests.  A special 

group  was  created  to  help  police  find and  arrest  the  rioters. It  asked people using 

Facebook to participate in identifying the rioters. To do so, the group recommended (22) 

___________ attention to shared  photos  and  videos  of  the  event. 
After the precedent a  number  of  similar  ‘Facebook  parties’  was close to getting  (23) 

_______________ control. For instance, almost the same happened to a 

British  teenager  Bradley  McAnulty and his 16
th

 birthday party in 2016. It is surprising that 

the details of the event somehow leaked and appeared on social networks, even though 

Bradley claimed that he hadn’t  posted  any information about the party on  the  internet. 
Such riots are still the (24) _____________ now in 2019, so it’s always worth (25) 

____________ before posting something on the internet. 

 

 

 

  A B C D 

11 like as of for 

12 away down out round 

13 did made committed occured 

14 be stay do make 

15 in at on by 

16 in into on onto 

17 eventually initially simultaneously gradually 

18 in at on for 

19 bad worse the worst worsening 

20 ways means methods chances 

21 consisted engaged contained involved 

22 pay to pay paying having paid 

23 away from out  of out from away of 

24 situation fact occasion case 

25 double-check double-checking to double-check double-checked 

III. Choose the correct word/words to complete the sentence: 

26. Too much knowledge__________ the head bald. 

a. makes 

b. make 

c. becomes 

d. are making 

27. People ___________have become acutely aware of the environmental problems. 

a. somewhere 

b. everywhere 

c. anywhere 

d. nowhere 
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28. Our washing machine is making ____________terrible noise! 

a. so 

b. what 

c. such a 

d. what a 

29. Were she one of my best friends, I__________her to my birthday party last week. 

a. would have invited 

b. may invite 

c. would invite 

d. should invite 

30. She didn’t feel like_________last night, so she stayed at home. 

a. go out 

b. going out 

c. to go out 

d. have gone out 

31. As soon as you ________what you are doing, I’d like a word with you, please. 

a. finish 

b. are finishing 

c. will finish 

d. will have finished 

32. Whatever Susan_________to do, she achieves. 

a. gets on 

b. sees to 

c. looks for 

d. sets out 

33. Under no __________will I allow such a thing. 

a. situation 

b. circumstances 

c. circumstance 

d. situations 

34. Excuse her – she’s usually__________ shy with strangers. 

a. little bit 

b. bit 

c. a little 

d. a rather 

35. We all played badly but Kevin played_______, I think. 

a. most badly 

b. the badliest 

c. the most badly 

d. the worst 

IV. Read the sentences with underlined words and phrases and find the wrong word or 

phrase  (a, b, c or d) which needs correction. 
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36. Although she tried to change her handwriting, she felt discouraged, because she 

made so many mistakes in spelling and punctuation, so that her work always gave a 

bad impression. 

a. Although she tried 

b. felt discouraged 

c. so that her work 

d. gave a bad impression 

37. Our school sports were held last week, and the whole afternoon was a disaster 

because very few people bothered to turn up, and there is nothing left than trying to 

win a race with only three or four people cheering on you. 

a. school sports 

b. very few people 

c. there is nothing left 

d. cheering on you 

38. I have never been to a foreign country before, but I have been planning a trip 

around Europe by the train with some friends of mine. 

a. have never been to 

b. have been planning 

c. by the train 

d. some friends of mine 

39. Nobody believed in Arthur’s innocent: he had been accused of the theft of a 

valuable Chinese vase, and was also charged with ten other offences. 

a. Arthur’s innocent 

b. had been accused of 

c. was also charged with 

d. other offences 

40. Ann has worked at this college for three years, she gets on well with the other 

members of the department, works hard and seems to be a conscious employee. 

a. has worked 

b. gets on well 

c. the other members of the department 

d. a conscious employee 

V. Read the sentences below and decide which answer a), b), or c) fits each space. 

41. She tossed back her ___________ of chestnut hair. 

a. Maine 

b. mane 

c. main 

42. The ___________ was posted to your home address yesterday. 

a. Czech 

b. check 

c. cheque 
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43. We took one___________ each and rowed quickly to the shore.  

a. or 

b. ore 

c. oar 

44. It never rains but it __________. 

a. pause 

b. paws 

c. pours 

45. A nationwide ___________ revealed different food preferences in the North and the 

South. 

a. Pole 

b. pole 

c. poll 

46. It’s the last week of summer, so enjoy the last __________ of sunshine. 

a. raise 

b. rays 

c. raze 

47. Both the ___________ and frog are amphibian. 

a. toad 

b. toed 

c. towed 

48. The blue ___________ is the world's largest living animal. 

a. wail 

b. wale 

c. whale 

49. Martin ___________ his scarf around his neck. 

a. rapped 

b. rapt 

c. wrapped 

50. The other boys __________ him because he is fat. 

a. teas 

b. tees 

c. tease 

 

Французский язык 

 

Вариант 1 

 

Lisez le texte: 

FAMILLE EN FRANCE 

En France, comme ailleurs, la famille type d’aujourd’hui n’est plus seulement celle 

dite « nucléaire » – composée exclusivement du père, de la mère et de l’enfant ou des 
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enfants. Même si ce schéma reste le plus répandu, d’autres types de familles sont ancrés dans 

la société française…  

La famille monoparentale. Elle est de plus en plus courante et concerne 22 % des 

foyers français. Il s’agit d’un parent vivant seul avec son ou ses enfants. 

La famille recomposée. Elle comprend un couple d’adultes et au moins un enfant né 

d’une union précédente. L’enfant a donc une belle-mère ou un beau-père, et les demi-frères et 

demi-sœurs vivent sous le même toit.  

La famille élargie. On l’appelle aussi « famille intergénérationnelle ». De moins en 

moins fréquente, elle regroupe sous le même toit des parents au sens large: grands-parents, 

parents et enfants. Il s’agit surtout de familles résidant à la campagne, qui ont grandi tous 

ensemble dans la même ferme, par exemple.  

C’est bien connu, les formes de familles diffèrent selon les classes sociales. Partons à 

la découverte des trois familles françaises les plus répandues, et n’ayons pas peur des 

stéréotypes ! 

La famille bourgeoise. On la retrouve dans les beaux quartiers. La famille bourgeoise 

compte généralement beaucoup d’enfants et est catholique. Mais on trouve tout aussi bien des 

familles riches avec un enfant unique, protestantes, juives, etc. Les membres de ce type de 

famille sont souvent qualifiés de « BCBG » – « Bon chic bon genre » – en référence à leur 

style vestimentaire stricte et classique. Jupe plissée et serre-tête pour les petites filles, pull 

bleu marine à col en V et culottes courtes pour les garçons ! Tous s’expriment dans un 

langage soutenu. Parfois, les enfants vouvoient même leurs parents. Le golf fait partie des 

passe-temps favoris de la famille bourgeoise. La mère s’occupe d’organiser des « rallyes » : 

ce sont des soirées dansantes très classe, réservées aux jeunes adultes des familles 

bourgeoises et aristocratiques, qui se déroulent sous l’œil attentif des parents. Le but est d’y 

trouver le partenaire idéal, avec lequel on fondera une nouvelle famille bourgeoise…  

La famille bobo. C’est une famille aisée s’étant néanmoins émancipée des codes 

bourgeois, qu’elle trouve contraignants ou dépassés. Pour s’habiller, la famille bobo – de « 

bourgeois-bohème » – recherche des vêtements issus du commerce équitable. Les bobos 

vivent souvent dans de grands lofts, dans des quartiers d’artistes. Sur le plan religieux, ils 

s’éloignent du catholicisme et pratiquent volontiers le bouddhisme. Concernant l’éducation 

des enfants, les règles sont beaucoup plus souples que dans la famille bourgeoise. Les parents 

lisent des livres de psychologie sur l’enfance et s’efforcent d’en appliquer les principes : 

dialogue avec l’enfant, théories Montessori, etc. C’est dans les milieux bobos que l’on trouve 

le plus de familles recomposées. Cela tient au fait que la relation de couple est plus placée 

sous le signe de l’amour que de la raison. On s’aime, on se quitte, on vit d’autres expériences, 

et on trouve un nouveau partenaire en espérant que tout le monde y trouvera son compte. 

La famille « prolo ». Les familles prolétaires vivent en banlieue, où les loyers des 

immeubles et des pavillons sont moins élevés. Ce type de famille est souvent assimilé à une 

famille populaire, aux manières frustres. Mais l’entraide y est généralement plus forte que 

chez les autres. Les membres de la famille prolétaire s’habillent dans les grandes surfaces bon 

marché. Leurs repères culturels proviennent des émissions, des séries et des jeux télévisés. 

L’éducation des enfants n’a souvent pas de cadre précis et se fait dans un langage familier. 

Les difficultés de la vie amènent parfois les parents à une perte de contrôle sur l’éducation 

des enfants.  

 

Choisissez la réponse qui convient:  
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1. Un « rallye » bourgeois, c’est… 

a. une course automobile.  

b. un concours sportif.  

c. un mariage chic.  

d. une fête privée.  

 

2. L’éducation des enfants dans une famille « bobo » est basée sur… 

a. … des principes éducatifs bien stricts.  

b. … le principe d’échange avec l’enfant.  

c. … le principe d’expérimentation. 

d. … des principes religieux.  

 

3. Laquelle des variantes ci-dessous est synonymique du participe passé composé « s’étant 

émancipée » dans la phrase « C’est une famille aisée s’étant néanmoins émancipée des codes 

bourgeois.» ? 

a. tenant à, 

b. étant provenue de, 

c. s’étant libérée de, 

d. obéissant à.  

 

4. Quelle est le sens de la phrase : « Ce type de famille est souvent assimilé à une famille 

populaire...» ?  

a. C’est un type de famille très répandu en France.  

b. C’est une famille d’une grande renommée.  

c. C’est une famille composée des gens de peuple.  

d. C’est une famille qui est composée de people.  

 

5. L’expression « bon marché » signifie :  

a. peu cher.  

b. d’une bonne qualité.  

c. de marque.   

d. sur mesure. 

 

Les affirmations suivantes sont-elles vraies ou fausses ?  

 

6. La famille nucléaire est de moins en moins populaire aujourd’hui. 

Vrai                                        Faux  

7. La famille nucléaire peut être recomposée. 

Vrai                                           Faux  

8. La famille élargie comprend plusieurs générations. 

Vrai                                           Faux  

9. La famille élargie n’existe plus qu’à la campagne. 

Vrai                                           Faux  

10. Le type de famille dépend de la couche sociale. 

Vrai                                           Faux   
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Pour les questions 11 – 25, lisez le texte suivant et choisissez le mot le plus approprié 

pour chaque espace vide. 

LE POP-CORN AU CINEMA 

          Avec l'arrivée des cinémas multiplex, les craquements de pop-corn s'imposent 

souvent comme la nouvelle (11) ______-son des films projetés. La vente de boissons et de 

confiseries est une (12) ______ de recettes dont les grandes enseignes, comme UGC ou 

Gaumont, ne peuvent (13) ______. Elle représente 40 % de leur (14) ______ d'affaires.  

Beaucoup de spectateurs ne (15) ______ pas ce bruit de grignotage et l'odeur d'huile 

chauffée qui parasite leur attention. D'autres ne conçoivent pas une séance de cinéma sans 

leur cornet de pop-corn. Ça fait (16) ______ de la sortie. Évidemment, si ces deux catégories 

de cinéphiles se retrouvent sur des (17) ______ voisins... 

En France, certains (18) ______ pratiquent ou ont tenté l'interdiction totale de pop-

corn en salles. À cette ligne dure, des patrons préfèrent en général des pancartes (19) ______ 

aux spectateurs de ne pas grignoter au-delà du générique* du début ou de le faire « avec 

discrétion ». Difficile... 

Entendons-nous bien, le pop-corn, c'est pas mauvais. Mais pas au cinéma. Passe 

encore pour (20) ______ contre l'effet anxiogène** d'un Piranha 3D. Mais comment savoure-

t-on les dialogues d'une bonne (21) ______ si toute la salle croustille dessus ? On n'entend 

plus. Et ce (22) ______ douceâtre qui flotte. 

Avant, entre les pubs et le début du film, on achetait des chocolats glacés. Un 

esquimau n'a pas d'odeur ; ça fond dans la bouche en silence. Et puis, c'était (23) ______ dans 

une certaine tradition française de la sortie ciné. Le pop-corn, c'est comme Halloween. Des 

graines (24) _____ d'Amérique qu'on sème partout, surtout aux alentours des caisses. 

Mais combien de spectateurs ont vraiment (25) ______ de maïs soufflé ? L'achat 

n'est-il pas un peu téléguidé ? Ce côté « Ici, vous pouvez manger, mais c'est menu unique (et 

pas donné) », non merci. 

 

*générique (m) – partie d’un film où sont indiqués le titre, le nom du réalisateur et des 

divers collaborateurs.  

** anxiogène – qui suscite l’anxiété, l’angoisse. 

 

 A B C D 

(11) ruban bande cordon galon 

(12) puits ruisseau source fontaine 

(13) se servir s’occuper se passer se préoccuper 

(14) nombre  chiffre numéro quantité 

(15) détestent haïssent exècrent supportent 

(16) partie part parti particularité 

(17) chaises banquettes tabourets sièges 

(18) endroits lieux places emplacements 

(19) invitant priant recommandant poussant 

(20) lutter combattre attaquer battre 

(21) drame thriller western comédie 

(22) arôme parfum senteur goût 

(23) inscrit écrit prescrit décrit 

(24) emportées déportées importées remportées 
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(25) désir caprice  tentation envie 

 

Choisissez la bonne forme :  

26. Je ne me suis pas fait couper les cheveux ________________trois mois. 

 

a). depuis ; 

b). il y a ;  

c). à partir de ; 

d). pour. 

27. On trouvera bien une solution ____________________ réfléchir. 

a). à cause de ; 

b). grâce à ; 

c). à force de ; 

d). par. 

 

28. Tout le monde a ses problèmes, tu as __________, j’ai _____________, chacun a 

_____________. 

 

a). les miennes, les tiennes, les siennes ; 

b). les tiens, les miens, les leurs ; 

c). les tiens, les miens, les siens ; 

d). les tiennes, les miennes, les nôtres. 

 

29. Et alors, _______________te gêne là-dedans ? 

 

a). qui est-ce que ; 

b). ce qui ; 

c). qu’est-ce qui ; 

d). qu’est-ce que. 

 

30. _________________est le mode d’emploi de cette machine ? 

 

a). Comment ; 

b). Quel ; 

c). Auquel ; 

d). Quelle. 

 

31. Tu t’es servi ____________mon ordinateur ? Non, je ne _____________suis pas servi 

 

a). a ; m’y 

b). avec ; m’en 

c). de ; m’en 

d). de ; m’y 
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32. Vous dépendez financièrement _____________ vos parents ? 

       Oui, _____________ 

 

a). de; j’y dépends ;  

b). à; j’en dépends ;  

c). de; je dépends d’eux;  

d). de; j’en dépends.  

 

33. Les articles ? Je ne les ai pas encore _________________ 

 

a). lus ; 

b). lu ; 

c). lues ; 

d). lue. 

 

34 . Ils m’ont dit et redit qu’ils __________________contents de la recevoir . 

 

a). seront ; 

b). soient ; 

c). seraient ; 

d). ont été. 

 

35. Elle a reconnu qu’elle _________________trompée. 

 

a). s’est ; 

b). s’était ; 

c). se soit ; 

d). se fut. 

Lisez les phrases ci-dessous. Un des extraits soulignés comporte une faute. Trouvez cet 

extrait et cochez la lettre correspondante.  

 

36. Il y avait à Montmartre, au troisième étage du 75 bis de la rue d’Orchampt, un excellent 

homme nommé Dutilleul qui possédait un don singulier de passer à travers les murs sans en 

être incommodé.  

a. nommé c. passer 

b. un d. en 

 

37. On apprend assez tard dans la vie à avouer qu’on ne sait pas ce qu’on ne sait pas, qu’on 

n’a pas lu les livres qu’on n’a pas lu.  

a. avouer c. les 

b. ce qu’ d. lu 

 

38. Quelques années avant la mort de Napoléon, on organisa une cérémonie grandiose pour le 

transfert de ses cendres aux Invalides. 

a. avant c. transfert 
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b. grandiose d. cendres 

 

39. Ce matin-là, comme la pluie qui tombait sans discontinuer depuis plusieurs jours s’était 

arrêtée et que les trottoirs étaient enfin secs, Pierre s’est dit qu’il fallait y profiter pour sortir 

un peu de la ville.  

a. comme c. s’est dit 

b. depuis d. y 

 

40. Tout le monde se souvient encore aujourd’hui du jour quand l’Opéra de la ville, qui avait 

été détruit par un incendie, a rouvert ses portes.  

a. du c. détruit 

b. quand d. rouvert 

 

 

Trouvez la transcription correcte du mot : 

 

41. paonne 

a) [pɑ ñ]  

b) [pan] 

 

42. lycéen 

a) [liseɑ ̃] 

b) [liseε ]̃ 

 

43. (se) fier                         

a) [fije] 

b) [fje] 

 

44. solennel                         

a) [sɔlanεl] 

b) [sɔlœnεl] 

 

45. satiété                            

a) [sasjete] 

b) [satjete] 

 

46. (je) jouerai                    

a) [ʒuǝʀe] 

b) [ʒure] 

47. abasourdir                     

a) [abazuʀdi:ʀ] 

b) [abasuʀdi:ʀ] 

 

48. immettable                    

a) [imεtabl̥] 

b) [ε ̃mεtabl̥] 
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49. grand artiste                  

a) [gʀ ɑ ̃-t- aʀtist]  

b) [gʀɑ ̃-n- aʀtist] 

 

50. enfant intelligent 

a) [ɑ ̃fɑ ̃ε ̃tεliʒɑ ̃] 

b) [ɑ ̃fɑ ̃-t-ε ̃tεliʒɑ ̃]  

 

Вариант 2 

 

Lisez le texte: 
LES RITUELS DE LA FAMILLE FRANÇAISE 

Le rituel le plus distrayant. Quand arrivent enfin les « grandes vacances », 64 % des 

Français décident de quitter leur domicile. S’ils restent en France, ils partent principalement 

dans le Sud-Est, en Corse ou en Bretagne. Pour les familles qui prennent la route, le rituel est 

toujours le même : les parents chargent le véhicule la veille du départ. Le jour J, tout le 

monde se réveille très tôt pour éviter les bouchons. Un des parents s’installe au volant, 

pendant que les enfants se rendorment illico à l’arrière. Pendant les deux mois de vacances 

d’été, certains enfants partent à la campagne chez leurs grands-parents. D’autres vont en « 

colo » – colonie de vacances –, où ils retrouvent des jeunes de leur âge et suivent les activités 

organisées par les animateurs.  

Le plus mignon. C’est incontestablement la tradition de « la Petite Souris ». À 

chaque fois que l’enfant perd une dent de lait, il la place sous son oreiller avant d’aller 

dormir. Pendant la nuit, une fois l’enfant endormi, les parents (alias « la Petite Souris »!) 

viennent discrètement remplacer la dent par une pièce de monnaie, un petit jouet ou des 

bonbons, qu’ils déposent sur sa table de nuit. Rien de mieux pour apaiser l’enfant lorsqu’il 

perd ses quenottes ! 

Le plus sacré. La préparation de la rentrée des classes en septembre est un moment 

important dans la vie de l’enfant tout comme dans celle des parents. Parents et enfants 

passent chaque année par le rituel des fournitures scolaires : munis d’une longue liste fournie 

par l’école, ils déambulent dans les rayons des magasins pour trouver LE petit cahier à grands 

carreaux 21 x 29,7 cm, avec spirales et seulement 96 pages, ou LE papier Canson format 24 x 

32 cm ! Avec le temps, les professeurs ne sont pas devenus pour autant moins exigeants… Le 

choix du cartable est aussi très important. Sans parler de l’agenda ! Les parents doivent 

encore emballer les manuels fournis par l’école dans du papier transparent pour les protéger. 

Et tous ces petits rituels se perpétuent de génération en génération.  

Le plus gourmand. Chercher les œufs de Pâques dans la maison ou le jardin! 

Discrètement, les parents cachent un peu partout des œufs et des poules en chocolat. Ils 

appellent ensuite leurs enfants en leur annonçant que les cloches (ou le lapin de Pâques dans 

certaines régions de l’Est) sont passées. Chacun prend alors un panier, et c’est parti pour la 

chasse aux œufs !  

Le plus tendre. Le câlin ou le bisou échangé entre parents et enfants, l’histoire lue en 

famille dans le lit, le moment où l’on vérifie qu’il n’y a pas de monstre sous le lit, la berceuse 

que l’on chante… Chaque famille a ses grigris avant de se séparer pour la nuit, si importants 

pour l’équilibre de l’enfant.  
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Choisissez la réponse qui convient:  

 

1. Quelle est la signification de l’adverbe « illico » dans la phrase : « Un des parents s’installe 

au volant, pendant que les enfants se rendorment illico à l’arrière.» ?  

a. immédiatement. 

b. progressivement.  

c. avec effort.   

d. de nouveau. 

 

2. Laquelle des variantes ci-dessous est synonymique de la proposition participe absolue 

« une fois l’enfant endormi » dans la phrase « Pendant la nuit, une fois l’enfant endormi, les 

parents … viennent discrètement remplacer la dent par une pièce de monnaie…» ? 

a. pour une fois, l’enfant s’est endormi.  

b. l’enfant s’est enfin endormi. 

c. dès que l’enfant s’est endormi. 

d. l’enfant s’est rendormi de nouveau.  

 

3. Les préparatifs de la rentrée sont qualifiés de « rituel le plus sacré » parce qu’ … 

a. ils marquent le passage à la vie active.  

b. ils se font avec l’aide des parents.  

c. ils ne changent pas avec le temps.  

d. ils portent un caractère religieux.  

 

4. Quel est le sens de la locution adverbiale « pour autant » dans la phrase : « Avec le temps, 

les professeurs ne sont pas devenus pour autant moins exigeants… » 

a. d’autant plus.  

b. au contraire.  

c. au moins.  

d. pourtant.  

 

5. Dans ce texte, le substantif « grigri » désigne…  

a. un petit jouet.  

b. un rituel protecteur. 

c. une habitude bizarre. 

d. un animal de compagnie. 

  

Les affirmations suivantes sont-elles vraies ou fausses ?  

6. La plupart des Français part en vacances. 

Vrai                                        Faux  

7. Un des parents vêtu d’un costume de souris remplace la dent de lait de l’enfant par un petit 

cadeau. 

Vrai                                           Faux  

8. Les écoliers sont libres de choisir leurs fournitures scolaires. 

Vrai                                           Faux  

9. La chasse aux œufs de Pacques est une chasse aux chocolats.  

Vrai                                           Faux  
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10. Dans les familles françaises, il y a des rituels différents qu’on pratique avant d’aller se 

coucher.  

Vrai                                           Faux   

 

 

 

Pour les questions 11 – 25, lisez le texte suivant et choisissez le mot le plus approprié 

pour chaque espace vide. 

 

LES GENS INTELLIGENTS SE COUCHENT TARD 

Selon une récente étude, le timing du sommeil (11) ______ l’intelligence: les 

personnes avec des QI (quotients d’intelligence) plus élevés (12) ______ à être plus actives la 

nuit et à se coucher plus tard, tandis que celles avec des QI plus bas se couchent plus tôt.  

Le manque de sommeil peut (13) ______ l’obésité, l’hypertension et de manière 

générale réduire l’/la (14) ______ de vie. La somnolence réduit la performance mentale, et est 

à l’origine de nombreux accidents de la/du/de l’(15) _____. Mais les horaires du sommeil 

font (16) _____ des sujets qui font débat depuis quelques années, surtout la corrélation entre 

le moment du sommeil (plutôt le matin ou plutôt le soir) et l’intelligence, écrit le scientifique 

Robert Alison qui fait un tour d’horizon des nombreuses (17) ______ scientifiques dédiées au 

sujet. 

Satoshi Kanazawa et ses collègues de la London School of Economics ont mis à jour 

des différences significatives dans les préférences de timing du sommeil entre les individus 

en (18) _____ de leur QI. Selon Kanazawa, nos ancêtres étaient diurnes, et l’évolution vers 

des activités plus nocturnes est une «nouvelle préférence de l’évolution» qui se retrouve chez 

les individus plus intelligents et dénote un « (19) 

_____ de complexité cognitive plus élevé». 

Cette étude vient plutôt à l’encontre de l’(20) _____ reçue selon laquelle «le monde 

appartient à ceux qui se lèvent tôt», et plusieurs études qui (21) ______ à la prouver. En 

2008, Marina Giampietro et son équipe avaient trouvé que les personnes «du soir» ont 

tendance à être moins stables émotionnellement, et plus enclines à souffrir de dépression, 

d’addictions ou de troubles du (22) ______ alimentaire. Des chercheurs ont également trouvé 

que se coucher tard et dormir peu rend les adolescents plus susceptibles de basculer dans la 

dépression et même de faire des (23) ______ de suicides. 

Pour rassurer ceux qui se sentent coupables de faire la (24) ______ matinée, citons 

trois avantages de dormir tard: nous avons en général besoin de plus de sommeil que ce que 

nous pensons, les personnes qui sont «du soir» sont plus créatives et se réveiller trop tôt est 

plus (25) _____.    

 

 A B C D 

(11) parle témoigne reflète fait preuve 

(12) tendent essaient prétendent désirent 

(13) susciter produire développer entraîner 

(14) espoir espérance longueur longévité 

(15) voiture trafic route automobile 

(16) partie parti part particularité 

(17) articles livres publications ouvrages 
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(18) conséquence fonction dépendance liaison 

(19) phase étape période niveau 

(20) affirmation idée opinion expression 

(21) tâchaient voulaient souhaitaient cherchaient 

(22) comportement conduite caractère manière 

(23) essais efforts tentations tentatives 

(24) grosse douce grasse longue 

(25) stressé stressant anxieux angoissé 

 

Choisissez la bonne forme :  

26.___________________le prix un peu élevé, l’affaire a été vite conclue. 

 

a). Alors que ; 

b). Cependant ; 

c). Malgré ; 

d). Bien que. 

 

27. Tout a été réglé  ________________2 jours . 

 

a). dans ; 

b). en ; 

c). à ; 

d). pour. 

 

28. ____________________vous attendez ? Votre mère ? Votre père ? 

 

a). Qu’est-ce que ; 

b). Pour qui est-ce que ; 

c). Qui est-ce que ; 

d). Avec qui. 

 

29. Apprenez vite les verbes irréguliers ! Il faut que tout le monde les 

______________rapidement ! 

 

a). apprend ; 

b). apprendra ; 

c). apprenne ; 

d). apprendrait. 

 

30. ça me rend triste qu’on ne  _______________________pas de moi. 

 

a). se souvienne ; 

b). se souvient ; 

c). s’est pas souvenu ; 

d). se souviendra. 
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31.  Il  va   _______________Brésil. 

 

a). en ; 

b). de ; 

c). au ; 

d). Pour. 

 

 

32. Que ________________vous si vous _____________une heure libre juste maintenant ? 

 

a). ferez ; aviez ; 

b). feriez ; auriez ; 

c). feriez ; aviez ; 

d). auriez fait ; aviez. 

 

33. Je préfère  ______y aller ________printemps ou _____été. 

 

a). ---; en; en ; 

b). d’; au; en ; 

c). à;  au; en ; 

d). ---; au; en. 

 

 

34. Il a beaucoup voyagé dans des pays _________________. 

 

a). tropical ; 

b). tropicales ; 

c). tropicaux ; 

d). tropiques. 

 

35. L’institutrice a proposé aux élèves de ________________exercices. 

 

a). nouveaux ; 

b). nouvel ; 

c). nouvelles ; 

d). nouveau . 

 

Lisez les phrases ci-dessous. Un des extraits soulignés comporte une faute. Trouvez cet 

extrait et cochez la lettre correspondante.  

 

36. La conversation par téléphone est à mi-chemin entre l’art et la vie : on y parle avec 

l’image qu’on a formé de l’auditeur.  

a. par c. parle 

b. à mi-chemin d. formé 
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37. Il est difficile de savoir ce que se passe dans un pays en guerre ; il faut accueillir cette 

nouvelle avec circonspection.  

a. ce que c. accueillir 

b. en guerre  d. circonspection 

 

38. Le jeune informaticien avait donné la preuve de son efficacité devant même qu’on ne 

l’engage.  

a. avait donné c. devant 

b. efficacité d. ne 

 

39. Le couloir réservé à la circulation des autobus est fréquemment encombré par des 

véhicules en station illicite.  

a. couloir c. par 

b. fréquemment d. station 

 

40. Il s’installa dans un fauteuil, prit avec désoeuvrement un livre qui traînait sur la table et se 

plongea dans sa lecture tandis que peu à peu l’obscurité gagnait le salon.  

a. dans c. se plongea 

b. avec d. peu à peu 

 

Trouvez la transcription correcte du mot : 

 

41. diagnostique                

 a) [djaɳɔstik]  

b) [djagnɔstik] 

 

42. champignon                  

a) [ʃɑ ̃piɳjɔ ̃] 

b) [ʃɑ ̃piɳɔ ̃] 

 

43. grosse                           

a) [gʀo:s]  

b) [gʀɔs] 

 

44. j’étudierai                      

a) [etydire] 

b) [etydiǝʀe] 

 

45. pérennité                       

a) [peʀεnite] 

b) [peʀε ̃nite] 

 

46. brosse                           

a) [bʀos] 

b) [bʀɔs] 
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47. cognitif                         

a) [kɔgnitif]  

b) [kɔɳitif] 

 

48. agneau                           

a) [aɳo]  

b) [agno] 

 

49. grand enfant                 

a) [gʀɑ ̃-t-ɑ ̃fɑ ̃]  

b) [gʀɑ ̃-n-ɑ ̃fɑ ̃] 

 

50. pied enflé                      

a) [pje -t-ɑ ̃fle]  

b) [pje ɑ ̃fle] 

 

Вариант 3 
 

Lisez le texte: 

 

LES MEMBRES DE LA FAMILLE  

Le jeu de cartes des 7 familles est très apprécié en France. C’est LE jeu qui réunit 

toute la famille autour d’une table. Mais à part jouer, que font les membres d’une famille 

française ? Comment gèrent-ils le travail, l’école, la garde ? Comment s’entendent-ils entre 

eux ? Explications. 

Le père de famille. Aujourd’hui, il change les couches, cuisine, aide les enfants à 

apprendre leurs leçons, fait le ménage… Mais le congé paternité n’est pas encore entré dans 

les mœurs françaises. Seuls 4 % des pères choisissent de le prendre. En France, la durée du 

congé de paternité est de 11 jours seulement. La mère dispose d’une pause de dix semaines.  

La mère. C’est une femme active qui s’épanouit dans son travail. L’accouchement 

passé, elle recommence rapidement à travailler. Les Français ont tous en mémoire les images 

de Rachida Dati, en 2009, reprenant son activité de ministre de la Justice cinq jours 

seulement après la naissance de sa fille ! En France, l’État a mis en place des infrastructures 

pour aider les jeunes mamans, comme la crèche qui accueille les enfants à partir de 3 mois, et 

l’école maternelle à partir de 3 ans. 81,8 % des femmes ayant deux enfants de plus de 3 ans 

travaillent. La femme française refuse d’être perçue uniquement comme une mère, ce qui ne 

l’empêche pas d’être attentionnée avec ses enfants.  

Les enfants (et les ados). Les enfants en bas âge vont à l’école de 8 h 30 à 16 h 30, 

sauf le mercredi. La garderie accueille ceux dont les parents ont un emploi du temps trop 

chargé, avant et après l’école. Les enfants plus grands font aujourd’hui partie de la « 

génération Z ». Ce sont ces jeunes nés dans les années 2000 qui ont grandi dans un monde 

ultra-connecté. Si l’on critique les ados ayant toujours le nez sur leur écran, les parents ne 

sont pas en reste ! À tel point que 85 % des 15-18 ans déclarent avoir besoin de plus 

d’échanges « réels » avec leurs parents. Il faut dire que dans certaines familles françaises, on 

se souhaite « bonne nuit » ou « bon appétit» via WhatsApp !  

Les grands-parents. La France comportant de nombreuses structures de garde, on 

peut dire que c’est l’un des pays dans lequel on demande le moins aux grands-parents de 
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s’occuper des enfants. Seuls 7 % des papis-mamies gardent quotidiennement leurs petits-

enfants. Mais ils sont nombreux à proposer leur aide de manière ponctuelle : garder les 

enfants lorsqu’ils sont malades, aller les chercher chez des amis, les emmener au cours de 

musique… La nouvelle génération de grands-parents est jeune et alerte. S’ils aiment 

s’occuper de leurs petits-enfants, ils sont tout de même bien contents quand les parents 

viennent les récupérer… Pour résumer ce phénomène, il existe un terme bien précis : « chic-

ouf ». Chic, les petits-enfants arrivent ! Ouf, ils repartent ! 

 

Choisissez la réponse qui convient:  

 

1. La mère française qui travaille… 

a. peut prendre un congé paternité de 11 jours. 

b. porte moins d’attention aux enfants. 

c. ne prive pas ses enfants d’attention.  

d. s’occupe du ménage toute seule.  

 

2. La génération « Z » ce sont les adolescents … 

a. qui sont familiarisés avec l’informatique.  

b. qui sont en conflit avec leurs parents.  

c. dont les parents ne sont jamais à la maison.   

d. qui ont des relations virtuelles avec les parents. 

 

3 . Quel est le sens de la conjonction « à tel point que » dans la phrase : « À tel point que 85 

% des 15-18 ans déclarent avoir besoin de plus d’échanges « réels » avec leurs parents.» ? 

a. D’autant plus que.  

b. Pour que.  

c. Sans que.  

d. Si bien que.  

 

4. Laquelle des variantes ci-dessous est synonymique de la proposition participe absolue « La 

France comportant de nombreuses structures de garde… »? 

a. Bien que la France comporte de nombreuses structures de garde...  

b. Si la France comportait de nombreuses structures de garde… 

c. Comme la France comporte de nombreuses structures de garde …  

d. Il faut que la France comporte de nombreuses structures de garde …  

  

5. Qu’est-ce qui caractérise la nouvelle génération des grands-parents ? 

a. Ils tombent plus souvent malades qu’avant.  

b. Ils continuent à mener une vie active.  

c. Ils sont passionnés de musique des jeunes. 

d. Ils préfèrent vivre avec leurs petits-enfants.  

  

Les affirmations suivantes sont-elles vraies ou fausses ?  

 

6. En France, ce sont les mères qui prennent le plus souvent leur congé maternité. 

Vrai                                           Faux  

7. Il faut attendre l’âge de 3 ans pour mettre l’enfant dans une structure de garde. 
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Vrai                                           Faux  

8. Le système d’accueil et d’éducation des enfants en bas âge est bien développé en France. 

Vrai                                           Faux  

9. Les parents sont beaucoup moins connectés que leurs enfants. 

Vrai                                           Faux  

10. D’habitude, ce sont les grands-parents qui gardent leurs petits-enfants en France. 

Vrai                                           Faux   

 

Pour les questions 11 – 25, lisez le texte suivant et choisissez le mot le plus approprié 

pour chaque espace vide. 

 

LA PASSION DE LA COLLECTION 

Saviez-vous que près d'un Français sur quatre est un collectionneur ? Que l'on 

accumule les pièces de monnaie, les timbres, les cartes postales ou bien les porte-clefs, c'est 

une même passion de la collection qui nous (11) ______ rechercher des pièces rares et à les 

conserver précieusement. Or, si l'on en croit les psychanalystes, cette "collectionnite" n'est 

pas une obsession malsaine, bien au contraire ! Elle aurait même des effets bénéfiques sur le 

(12) _____. 

Pourtant, votre passion de la collection est peut-être incomprise par votre entourage. Il 

est fort possible que vos amis et votre famille (13) _____ de l'enthousiasme que vous 

exprimez face à telle ou telle pièce et de l'énergie que vous (14) ______ pour l'acquérir... 

Mais si vous faites (15) _____ des quelque 25% des Français qui possèdent une collection, 

vous savez bien que cette quête sans fin fait tout le (16) ______ de ce loisir. Chercher encore 

et toujours de nouvelles pièces pour 

compléter son (17) _— _ personnel est une façon de pimenter son quotidien.  

Et si certains changent de spécialité et se mettent à collectionner de nouveaux objets, 

ils n'arrêtent en fait jamais de collectionner. Si tel est votre (18) ______, rassurez-vous: la 

collectionnite n'est pas une maladie ! 

Avoir la passion de la collection a aussi pour avantage d'/de (19) ______ la curiosité. 

Collectionner les timbres, les monnaies ou les objets anciens est un excellent (20) ______ de 

se cultiver et de continuer à (21) ______ à tout âge. 

L'envie de collectionner se manifeste d'ailleurs dès l'enfance :  en moyenne entre 7 et 

12 ans. Souvent, les enfants (22) ______  ce loisir au moment de la puberté, mais s'ils 

continuent à l'âge adulte, ils deviennent de véritables passionnés. 

          Parmi les objets les plus collectionnés, les pièces de monnaie et les timbres sont très 

(23) ______, peut-être parce qu'ils (24) ______ de s'évader et de voyager loin sans bouger de 

chez soi... Chaque pièce d'une collection peut ainsi devenir une fenêtre ouverte sur le monde. 

Bref : si on collectionne quelque chose, on (25) ______ à la routine et au quotidien et 

on fait travailler son imaginaire. 

 

 A B C D 

(11) pousse fait force encourage 

(12) moral morale moralité psychologie 

(13) admirent applaudissent s’extasient s’étonnent 

(14) dépliez déroulez déployez déballez 

(15) partie parti part membre 
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(16) poivre sel moutarde sucre 

(17) richesse fortune abondance trésor 

(18) situation cas position circonstance 

(19) retenir détenir entretenir tenir 

(20) moyen méthode possibilité occasion 

(21) instruire enseigner apprendre éduquer 

(22) renoncent se détournent s’éloignent abandonnent 

(23) prises prisés déprisés reprises 

(24) laissent aident autorisent permettent 

(25) fuit s’enfuit échappe se sauve 

 

Choisissez la bonne forme. 

26. Je suis tellement triste qu’elle ____________si malheureuse ! 

 

a). est ; 

b). sera ; 

c). soit ; 

d). a été.  

 

27. Il a commencé à faire du piano ________________ un an. 

 

a). depuis ; 

b). à partir de ; 

c). il y a ; 

d). pendant. 

 

28. Vous allez vous casser la voix ____________crier. 

 

a). à cause de ; 

b). grâce à ; 

c). à force de ; 

d). pour.  

 

29. Il n’a pas été inquiet, _____________les preuves réunies contre lui. 

 

a). cependant ; 

b). alors que ; 

c). bien que ; 

d). malgré. 

 

30. Je ne suis pas allé à la soirée, __________________ce n’est pas très grave. 

 

a). d’ailleurs ; 

b). d’autre part ; 

c). donc ; 
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d). par contre. 

 

31. Je ne m’occupe pas de vos affaires. Pourquoi vous mêlez-vous ______________ ? 

 

a). des miens ; 

b). des vôtres ; 

c). des miennes ; 

d). aux miennes.  

32.  ___________________vous prenez ? du thé ? du café ? 

 

a). Que ; 

b). Qui est-ce que ; 

c). Qu’est-ce que ; 

d). Lequel.  

 

33. ___________________sont les causes des tremblements de terre ? 

 

a). Lesquels ; 

b). Quels ; 

c). Lesquelles ; 

d). Quelles.  

 

34. Vous vous souvenez  ______________votre premier baiser ? Oui, ___________. 

 

a). de ; je me souviens d’elle ; 

b). de ; je m’en souviens ; 

c). de ; je me souviens de lui ; 

d). de ; je me souviens d’eux. 

 

35. Si un jour, sur votre chemin, vous ________________une « bonne fée », que lui 

____________ ? 

 

a). aviez rencontré ; auriez-vous demandé ; 

b). rencontrerez ;  demanderez-vous ; 

c). rencontriez ; demanderiez-vous ; 

d). auriez rencontré ; aurez-vous demandé.  

 

Lisez les phrases ci-dessous. Un des extraits soulignés comporte une faute. Trouvez cet 

extrait et cochez la lettre correspondante.  

 

36. Un jeune homme peut sans ridicule rester silencieux pendant toute une soirée, pourvu que 

la seule phrase dite par lui est brillante ou délicate.  

a. ridicule c. dite 
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b. toute d. est 

 

37. Personne n’a ressenti une angoisse assez vive que celle que j’ai éprouvée lors de cet 

accident.  

a. ressenti c. celle 

b. assez d. lors de 

 

38. Vous n’êtes pas sans connaître que notre parti a vu doubler le nombre de ses adhérents.  

a. connaître c. nombre 

b. parti d. adhérents 

 

39. Il était neuf heures, j’étais en retard, je suis descendu l’escalier quatre à quatre, l’autobus 

était déjà passé.  

a. était c. je suis descendu 

b. en retard d. quatre à quatre 

 

40. Pendant six jours, les magasins resteront ouverts tard le soir, offrant aux passants le 

spectacle de leurs vitrines où l’on a disposé de plus beaux objets.  

a. Pendant c. spectacle 

b. tard le soir d. de plus beaux objets 

 

Trouvez la transcription correcte du mot: 

 

41. ennemi                        

 a) [εnmi] 

b) [ε ̃nmi] 

42. handball                        

a) [ɑ ̃dbal] 

b) [ɑ ̃dbol] 

 

43. bosse                            

a) [bɔs] 

b) [bos] 

 

44. fosse                             

a) [fɔs] 

b) [fo:s] 

 

45. récemment                    

a) [ʀesamɑ ̃] 

b) [ʀesǝmɑ ̃] 

46. ils se marieront 

a) [mariǝʀõ] 

b) [mariʀõ] 

 

47. outil                              



38 

 

a) [uti] 

b) [util] 

 

48 grossir                          

a) [gʀɔsi:ʀ] 

b) [gʀosi:ʀ] 

 

49. grand explorateur         

a) [gʀ ɑ ̃-d- ̃ εksplɔ ʀatœ:ʀ]  

b) [gʀ ɑ ̃-t- ̃ εksplɔ ʀatœ:ʀ] 

 

50. bien immobilier           

a) [bjε ̃-n-imɔbilje]  

b) [bjε ̃ imɔbilje] 

 

Немецкий язык 
Вариант 1 

Lesen Sie den Text und machen Sie dann die Aufgaben 1-10. 

38 Prozent von den Deutschen suchen bei Gesundheitsfragen Rat im Netz und klicken 

Gesundheitsportale an. Laut einer Studie gehört zu den meistgesuchten Krankheiten Diabetes, 

woran so viele Europäer leiden. Ebenfalls oft gesucht Leiden, über die viele nicht gerne 

sprechen, auch nicht mit dem Arzt. Je mehr das Krankheiten-Googeln zum Volkssport wird, 

desto stärker stellt sich für Politiker und Mediziner die Frage nach der Qualität des Angebots. 

Denn die Qualität ist in vielen Fällen richtig schlecht: lückenhafte oder veraltete Informationen 

und Widersprüche. Manchmal dienen die Texte und Bilder dazu, für ein Medikament oder eine 

Heilmethode zu werben. Wer sich oft durch die Ergebnislisten klickt, landet auf Seiten von 

Krankenkassen, Pharmaunternehmen, Medizinern, Hobbyratgebern.    

  

Die organisierte Ärzteschaft ist keineswegs grundsätzlich dagegen, wenn sich Patienten 

im Netz schlau machen. “Die Frage ist nur, wann sie es tun und wo sie suchen”, sagt Claudia 

Becker vom Institut “Medizinisches Zentrum für therapeutische Qualität”. Dort hält man es für 

falsch, Krankheitssymptome, die man bei sich entdeckt hat, per Suchmaschine selbst zu 

diagnostizieren. “Wenn Patienten richtige und gute Informationen haben, vereinfacht das 

vieles.” Ziel ist dabei nicht das Verständnis fachlicher Details. “Aber Patienten können Ärzte 

später informiert fragen – und genau darum geht es.” 

 

1. Aufgaben 1-5. Was ist richtig? Kreuzen Sie an und tragen Sie Ihre Lösungen in den 

Antwortbogen ein! 

1) Was machen immer mehr Kranke in Deutschland? 

a) Sie lassen sich lieber zu Hause behandeln.  

b) Sie vertrauen auf Hilfe im Internet.  

c) Sie werden in Wartezimmern krank. 

d) Sie diagnostizieren ihre Krankheitssymptome selbst. 

2) Auf welche Krankheiten richtet sich das Interesse der Kranken? 
a) Die auch Ärzte überfordern.  
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b) Die eine kostspielige Behandlung verlangen.  

c) Die besonders schmerzhaft sind.  

d) Deren sich die Betroffenen schämen. 

3) Woran zweifeln viele Mediziner und Politiker? 
a) Daran, dass die Ärzte unqualifiziert sind.  

b) Daran, dass das Internet brauchbare Hilfe liefert.  

c) Daran, dass die berichteten Beschwerden echt sind.  

d) Daran, dass sich die Gesundheit der Kranken verbessert. 

4) Was ist am Internet-Angebot oft so schlecht? 
a) Das Angebot ist zu groß.  

b) Es gibt nur falsche Ratschläge.  

c) Viele Informationen sind unvollständig. 

d) Man findet oft Werbung, aber keine echte Hilfe.    

5)  Wozu informieren sich Patienten, laut Claudia Becker, im Netz? 
a) Sie können sich auf das Arztgespräch vorbereiten.  

b) Sie können sich detailliertes Fachwissen holen. 

c) Sie können nach einem Arzt suchen. 

d) Sie können Anleitungen zur Selbsttherapie finden. 

 

2. Aufgaben 6-10. Sind folgende Aussagen richtig oder falsch? Kreuzen Sie an! 

6) Mehr als ein Drittel der Deutschen hat schon Therapievorschläge aus dem Netz befolgt. 

    richtig    falsch 

7) Die Patienten schaffen sich durch die Nutzung der Onlinequellen fehlerlose Vorstellungen 

zu Krankheitsbildern. 

richtig    falsch 

8) Die Netz-Recherche neigt nie zur Selbsttherapie. 

richtig    falsch 

9)  Gesundheitsportale können helfen, das Informationsbedürfnis von Patienten zu stillen. 

richtig    falsch 

10) Informierte Patienten verstehen ihre Ärzte besser. 

richtig    falsch 

 

Aufgaben 11-25. Lesen Sie den Text und kreuzen Sie für jede Lücke (11-25) die richtige 

Variante (A, B, C oder D) an. Tragen Sie Ihre Lösungen in den Antwortbogen ein. 
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Seit Jahren ist der demografische Wandel ein diskutiertes (11)... in der deutschen 

Öffentlichkeit. Die Bundesbürger werden immer älter und das hat spürbare (12)... auf alle 

Bereiche des gesellschaftlichen Lebens – auch auf die Arbeitswelt. Aufgrund des 

späteren Beginns der Rentenzahlung ist bis zum Jahr 2020 mit einer Erhöhung (13)... der 

55- bis 64-Jährigen in den Betrieben um 40 Prozent zu (14)... .     

 Dieser Entwicklung hinken die meisten Unternehmen in Deutschland in ihrer 

Personalpolitik (15)... , denn wenige Betriebe kümmern sich überhaupt (16)... , diese 

älteren Mitarbeiter gezielt zu (17)... . Das Ideal ist (18)... immer noch der junge, 

dynamische Erfolgsmensch. Nur langsam (19)... sich die Erkenntnis durch, dass auch 

ältere, (20)...  Mitarbeiter von nicht zu unterschätzendem (21)... für ihre Firma sein 

können. Ein Unternehmen, das langfristig um qualifizierte Arbeitskräfte bemüht ist und 

den sich immer deutlicher abzeichnenden Facharbeitermangel ernst (22)... , kommt nicht 

umhin, Geld in Bereiche wie Gesundheitsvorsorge und Weiterbildung für ältere 

Arbeitskräfte zu (23)... . Und mit der verbesserten Auftragslage steigt die Nachfrage nach 

diesen qualifizierten Beschäftigten. Bei vielen Jugendlichen sind keine (24)... 

Fachkenntnisse vorhanden, wie die zahlreichen Klagen von Arbeitgebern (25)... . Gerade 

hier könnten die Älteren der Jugend ihr Wissen und Können weitergeben. 

 

 A B C D 

11)  Fach   Gebiet          Gespräch            Thema 

12)  Auswirkungen    Eindrücke          Ergebnisse              Weiterungen  

13)  der Beteiligung   der Nummer          des Anteils               des Beitrags  

14)  berechnen    rechnen          berücksichtigen             rechen 

15)  hinter   danach          hinterher              nachher  

16)  darauf  darüber         damit              darum 

17)  fordern   fördern         zufördern               befehlen 

18)  am Rande   auf Dauer        im Besonderen              in der Regel 

19)  führt   dringt        erreicht               setzt  

20)  berufsfremde   berufserfahrene        berufslose             berufsunfähige 

21)  Wert  Rang        Preis            Zweck 

22)  diskutiert  erachtet        nimmt             sieht 

23)  sparen   bezahlen       investieren             schenken 

24)  ausgerechneten ausreichenden     ausgereiften            ausreibenden 

25)  belegen anlegen   zulegen          belügen 

 

Aufgaben 26-50. Ergänzen Sie die Sätze, indem Sie eine der Varianten (a,b,c oder d) 

wählen. Tragen Sie Ihre Lösungen in den Antwortbogen ein. 

 

26. Das Problem ___________ uns noch lange. 

a) bedachte  

b) beschäftigte 

c) erfüllte 

d) erarbeitete 

27.  Das Publikum ___________den Schauspieler aus. 

a) pfeifte 

http://bfu.goethe.de/c1_01/lesen.php#bsp3a
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b) pfiff 

c) gröhlte 

d) brüllte 

28. Immer wieder ___________ eilte sie weg 

a) rückblickend 

b) rückschauend 

c) rückblendend 

d) zurückblickend 

29. Nachdem er ___________, durften wir lachen. 

a) geht 

b) gegangen ist 

c) gegangen war 

d) ging 

30. Max hat diese Aufgabe nicht selber ___________. 

a) geschaffen 

b) lösen gekonnt 

c) lösen können 

d) können lösen 

31. Alte Liebe___________ nicht. 

a) rostet 

b) weint 

c) endet 

d) dauert 

32. Seine Bemerkung hat ___________ getroffen. 

a) in die Mitte 

b) ins Weiße 

c) herzlich 

d) ins Schwarze 

33. Er hat die Prüfung mit ___________ und Krach bestanden. 

a) Achtung 

b) Ach 

c) Fach 

d) Sach  

34. Wir hatten Erkundigungen über ihn ___________. 

a) eingezogen 

b) eingebracht 

c) eingeleitet 

d) einbekommen 

35. Der Pullover, ___________ ich anziehe, ist aus Schottland. 

a) der 

b) welcher 

c) den 

d) welch 

36.      Sie hat ein ___________Profil. 

a) markiges 

b) markantes 

c) merkliches 
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d) merkenswertes 

37. Ein gewaltiger Blitz hat uns ___________. 

a) erschreckt 

b) erschrocken 

c) auferschreckt 

d) erklepft  

38. Es ist das Beste, ___________ wir tun können. 

a) das 

b) was 

c) welches 

d) wessen 

39. Seine Augen ___________ vor Zorn. 

a) glimmten 

b) glühten 

c) leuchteten 

d) flammten 

40. Der Apfel fällt nicht weit vom ___________. 

a) Baum 

b) Ast 

c) Stamm 

d) Boden 

41. Ich verzichte ___________, ich bin satt. 

a) auf das Dessert 

b) von dem Dessert 

c) zu dem Dessert 

d) gegen das Dessert 

42. Der Brauch ist ___________ aus vorchristlicher Zeit. 

a) eine Reliquie 

b) ein Remake 

c) ein Relikt 

d) eine Replik 

43. Das hat er mir erst zwischen Tür und ___________ gesagt. 

a) Angel 

b) Haken 

c) Abschied 

d) Flucht 

44. Zwei ___________ erstatteten Bericht. 

a) Polizeibeamten 

b) Polizeibeamte 

c) Polizeibeamteten 

d) Polizeibeamtete 

45.   Er erschien mit blauem Auge und ___________Hemd. 

a) verrissenem 

b) gereißtem 

c) gerissenem 

d) zerrissenem 

46. Wir sind ___________in der Großstadt gewöhnt. 
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a) an ein Leben 

b) mit einem Leben 

c) für ein Leben 

d) zu einem Leben 

47. In deinem Aufsatz fehlt der ___________ . 

a) rote Faden 

b) Pfeffergehalt 

c) Federstrich 

d) Seidenhandschuh 

48. Wir ___________ des Zuges. 

a) erkundigten nach der Abfahrt 

b) erkundigten uns über die Abfahrt 

c) erkundigten uns nach der Abfahrt 

d) erkundigten uns für die Abfahrt 

49. Der Regen ___________ gegen die Fensterscheiben. 

a) rasselte 

b) prasselte 

c) pochte 

d) blochte 

50. Dieses Gerät ist   ___________ Fisch noch Vogel. 

a) nur 

b) kaum 

c) weder 

d) nicht 

 

Вариант 2  

 

Lesen Sie den Text und machen Sie dann die Aufgaben 1-10. 

 

In Kassel wurde 1812 ein Gedicht aus dem achten Jahrhundert veröffentlicht. Es 

berichtet in altertümlichen Versen vom Kampf Hildebrand und Hadubrand. Die Titelseite 

nannte als Herausgeber dieser ältesten Dichtung in deutscher Sprache "Die Brüder Grimm". 

Seitdem gelten Jakob und Wilhelm Grimm als Paar; man spricht gewöhnlich nur noch von 

den Brüdern Grimm. "Sie haben wirklich aus ihren beiden Leben ein einziges gemacht", 

schrieb der Dichter Carl Zuckmayer. 

Ein Grund für den gemeinsamen Lebensweg der beiden Brüder war die Notlage, in 

welche die Familie Grimm geriet. Als Jakob und Wilhelm noch Kinder waren, starb ihr 

Vater, ein Beamter in der hessischen Kleinstadt Steinau. Damit war die sorglose, 

unbeschwerte Kindheit für sie vorbei. Die Mutter gab alles Geld, das sie noch übrig hatte, für 

die Ausbildung von Wilhelm und Jakob her, damit diese später einmal für ihre drei jüngeren 

Geschwister sorgen könnten. So wie es noch ihr Vater gewünscht hatte, studierten die Brüder 

zunächst Jura, Wilhelm legte auch ein Examen ab. Aber schon bald erkannten die beiden, 

dass ihre Interessen mehr auf anderen Gebieten lagen. Sie gaben deshalb die 

Rechtswissenschaften auf und wandten sich der Germanistik zu. Bei ihrer gemeinsamen 

Arbeit in diesem Fach wurden sie im Laufe der Zeit das unzertrennliche Paar, als dass sie 

heute in aller Welt bekannt sind. 
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1. Aufgaben 1-5. Was ist richtig? Kreuzen Sie an und tragen Sie Ihre Lösungen in den 

Antwortbogen ein! 
  

1.    Wovon erzählt das erste Werk, das die Brüder Grimm herausgaben? 

a) von altertümlichen Liedern. 

b) von germanischen Märchen. 

c) von zwei germanischen Helden. 

d) von Liebesgeschichten. 

2.     Wodurch verschlechterte sich die Situation der Familie Grimm? 

a) Durch die Ausbildung von Jakob und Wilhelm.  

b) Der Vater verlor seinen Arbeitsplatz des Beamten in Steinau.  

c) Durch die Geburt drei Geschwister. 

d) Durch den Tod des Vaters.   

3.     Warum sorgte die Mutter dafür, dass Jakob und Wilhelm studieren konnten? 

a) Weil sie Juristen in der Familie haben wollte. 

b) Weil sie Geld für sich selbst brauchte. 

c) Weil sich Jakob und Wilhelm um die jüngeren Geschwister kümmern sollten. 

d) Weil sie mehr Geld ausgeben wollte. 

4.     Warum begannen die beiden Rechtswissenschaften zu studieren? 

a) Weil es der Wille des gestorbenen Vaters war. 

b) Weil die Mutter es so wünschte. 

c) Weil sie sich dafür interessierten.  

d) Weil Rechtswissenschaften damals gesellschaftlich notwendigen Bedarf 

deckten. 

5.     Wie kam es dazu, dass die beiden doch Germanistik studierten? 

a) Das erste Studium war zu schwierig. 

b) Sie interessierten sich mehr für Sprachwissenschaft. 

c) Sie wollten zusammenarbeiten, was bei Rechtswissenschaften unmöglich war.  

d) Weil sie kein Geld für ein anders Fach hatten. 

 

 

2. Aufgaben 6-10. Sind folgende Aussagen richtig oder falsch? Kreuzen Sie an! 
  

6. Das erste von Brüdern Grimm herausgegebene Werk war eine Dichtung aus dem 

achtzehnten Jahrhundert.   

richtig                                     falsch  

7. Die Brüder Grimm konnten sich mit dem gemeinsamen Lebensweg aus der 

Verlegenheit ziehen.   

richtig                                     falsch  

 

8. Als die Brüder Grimm noch klein waren, hatten sie eine sorgenvolle und belastete 

Kindheit.  

richtig                                     falsch  

 

9. Nachdem Jakob und Wilhelm das erste Studium abgeschlossen hatten, wandten sie 

sich der Germanistik zu.   

richtig                                     falsch  
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10. In der Familie Grimm gab es mehr als 4 Kinder. 

richtig                                     falsch  

  

 

Aufgaben 11-25. Lesen Sie den Text und kreuzen Sie für jede Lücke (11-25) die richtige 

Variante (A, B, C oder D) an. Tragen Sie Ihre Lösungen in den Antwortbogen ein. 
  

Natürlich serviert man als (11) ... Essen oder passt (12) ...  allein reisende Kinder auf, 

aber der wichtigste (13) ...  ist die Sicherheit – und für die muss man immer schon gesorgt 

haben, (14) ...  die Fluggäste an Bord kommen.  

Man muss ca. eineinhalb Stunden vor dem Start (15) ...  sein. Zuerst trifft sich das 

Team zum „Briefing“, (16) ...  es kurze Informationen über (17) ...  gibt z.B. ob Kinder, 

Rollstuhlfahrer oder VIPs mitfliegen oder jemand (18) ... Diabetes oder aus anderem Grund 

ein besonderes Essen (19) ... . Auch besprechen sie Notfallsituationen und die Maßnahmen, 

die (20) ... . Dann bekommen sie (21) ...  noch vom Kapitän eine kurze Erläuterung über 

Flugstrecke und Wetter. Manchmal berichtet er auch (22) ... besondere Vorkommnisse auf 

vorherigen Flügen. Bevor die Passagiere ins Flugzeug (23) ..., muss jeder Flugbegleiter 

seinen Arbeitsbereich checken, besonders alles, was mit der Sicherheit (24) ... . Erst dann 

werden Fluggäste (25)... .  

 

Aufgaben 26-50. Ergänzen Sie die Sätze, indem Sie eine der Varianten (a,b,c oder d) 

wählen. Tragen Sie Ihre Lösungen in den Antwortbogen ein. 

 

26. Hunger ist der beste __________   . 

a) Abnehmer 

b) Lehrmeister 

c) Koch 

d) Esser 

27. Die Geschwindigkeit des Autos misst der __________  . 

 A B C D 

11.   Fluganzeiger Flugtrainer Flugleiter Flugbegleiter 

12.  über auf um an 

13. Aufgabenbereich Flugbereich Grenzbereich Verkehrsbereich 

14. bis nachdem bevor weil 

15. abwesend anwesend entwesend verwesend 

16. wo  wann der weswegen 

17.  die Flugmenschen die Flugleute die Fluggäste die Flieger 

18. wegen  gegen dank während 

19. mag kocht zubereitet braucht 

20. zu machen sind gemacht wurden zu treffen sind zu getroffen werden 

21. einschließend  anschließend beschließend einbeschließend 

22. ------ von an über 

23. eindringen eintreten  einsteigen kommen 

24. zu tun ist verbunden hat zu machen hat zu tun hat 

25. eingelassen einlassen gelassen einlässt 
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a) Barometer 

b) Fahrtenmesser 

c) Kilometerzähler 

d) Tachometer 

28. __________   ist der Glaube an Geister und Spuk. 

a) Spinnaker 

b) Spiritismus 

c) Spiritus 

d) Geisteswissenschaft 

29. Stets lässt du mich die __________   aus dem Feuer holen! 

a) Kastanien 

b) Kanonen 

c) Würste 

d) Rosinen 

30. Alois war schon immer das schwarze Schaf __________  . 

a) der Stadt 

b) in der Pfanne 

c) im Wofspelz 

d) der Familie 

31. Sandra hat wirklich eine __________ Schrift. 

a) unleserliche 

b) entlesene 

c) gelesene 

d) unleshafte 

32. __________   hat sich dein Freund geärgert? 

a) Über was 

b) Worüber 

c) Bei wem 

d) Auf was 

33. __________   doch dein Handy endlich reparieren! 

a) Mach 

b) Tue 

c) Lass 

d) Bringe 

34. Wir __________   den Film als langweilig. 

a) empfindeten 

b) empfanden 

c) glaubten 

d) findeten 

35. Ich mache mich __________ . 

a) auf den Weg 

b) zu dem Weg 

c) für den Weg 

d) an einen Weg 

36. Du bist gar nicht richtig krank, du __________ . 

a) stimulierst 

b) minimierst 
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c) sinnierst 

d) simulierst  

37. Ihr beide, __________   jetzt bitte nach Hause! 

a) vertreibt 

b) gehet 

c) geht 

d) verzieht 

38. Hier findest du alles, was dein Herz __________ . 

a) sich wünscht 

b) begehrt 

c) will 

d) fordert 

39. So geht’s nicht weiter, wir müssen uns __________ . 

a) zusammenraufen 

b) bestreiten 

c) behauen 

d) gefällen 

40. Am 1. April wirst du __________  . 

a) als Narr 

b) hineingelegt 

c) versohlen 

d) zum Narren gehalten 

41. Wir wohnten in der Nähe __________ Basel. 

a) bei 

b) neben 

c) von  

d) zu 

42. Sie bestellte bei Aldi __________  Mikrowellengrill. 

a) eine neue 

b) einen neuen 

c) der neue 

d) der neuste 

43. Diese Kreditkarte ist __________ .  

a) geltungslos 

b) geldlos 

c) entgeltet 

d) ungültig. 

44. Sie konnte ihre Lektion wie __________  . 

a) am Schnürchen 

b) geblitzt 

c) gekleckert 

d) am Gängelband 

45. Er behandelt mich immer vom __________  herab. 

a) wilden Gaul 

b) hohen Ross 

c) edlen Pferd 

d) elenden Klepper 
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46. Er steht ständig mit einem Fuß im __________  . 

a) Morgenrot 

b) Glatteis 

c) Gefängnis 

d) Himmelstor 

47. So geht’s nicht, da muss die Regierung __________  . 

a) intrigieren 

b) invertieren 

c) intervenieren 

d) avancieren 

48. Nur knapp hatte er die Diplomprüfung __________  . 

a) bestanden 

b) erhalten? 

c) geschaffen 

d) bekommen 

49. Mit ihrem Lachen hatte sie __________ gebrochen. 

a) die Laune 

b) das Eis 

c) den Haussegen 

d) den Schnee 

50. Was __________ du mir? 

a) empfehlst 

b) empfehlest 

c) empfillst 

d) empfiehlst 

 

Вариант 3 

 

Lesen Sie den Text und machen Sie dann die Aufgaben 1-10. 

 

„Die Geschichte eines jeden Fremden endet mit seiner Geburt,“ sagt Zafer Senocak in 

seinem Buch „Atlas des tropischen Deutschland.“ Dass also jemand sich in die deutsche 

Gesellschaft integriert oder auch nicht, liegt allein an ihm. Doch die Realität sieht anders aus. 

„Alle Ausländer sind in den Augen der Deutschen gleich, alle sind Außenseiter,“ sagt 

Senocak.  

Zafer Senocak lebt seit 1970 in Deutschland, aber er fühlt sich immer noch als Türke. 

Die Deutschen nennen die Ausländer immer noch „Gastarbeiter“. Dieser Begriff stammt aus 

der Zeit des Wirtschaftswunders nach dem Zweiten Weltkrieg, als Deutschland intensiv um 

Arbeiter in anderen Ländern warb. „Gastarbeiter“ sollten den Mangel der Arbeitskräfte 

ausgleichen.  Heute leben Nachkommen der Gastarbeiter in der dritten, manchmal sogar in 

der vierten Generation in Deutschland. Die meisten fühlen sich keiner Nationalität zugehörig 

und nennen sich „die Heimatlosen“ und „die Sprachlosen.“ Sie können die Sprache ihrer 

Eltern nicht mehr sprechen, aber deutsche Muttersprachler sind sie ebenfalls nicht. Senocak 

meint auch zum Schlagwort der Integration, dass „man darunter nichts Anderes versteht, als 

eine glatte Assimilation: die ‘fremden’ Gesichter verschwinden hinter deutschen Masken.“  
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1. Aufgaben 1-5. Was ist richtig? Kreuzen Sie an und tragen Sie Ihre Lösungen in den 

Antwortbogen ein! 

 

1. Wie sieht die Realität der Integration in die deutsche Gesellschaft aus? 

a) Die Herkunft der Eltern spielt gar keine Rolle dabei. 

b) Alle Ausländer sind in den Augen der Deutschen ähnlich. 

c) Die Ausländer können nur ihre eigene Sprache beherrschen.  

d) Es liegt allein an einer Person, sich in die deutsche Gesellschaft zu integrieren 

oder nicht.  

 

2. Warum kamen die Ausländer nach Deutschland im 20. Jahrhundert? 

a) In der Nachkriegszeit standen der deutschen Wirtschaft nicht genug männliche 

Arbeitskräfte zur Verfügung. 

b) Der deutschen Wirtschaft fehlten Arbeitskräfte, da die Männer noch im Krieg 

kämpften.  

c) „Gastarbeiter“ sollten den Mangel der Lebensmittel ausgleichen. 

d) Deutschland wollte eine multikulturelle Gesellschaft schaffen. 

 

3. Was bedeutet die Zeit des Wirtschaftswunders in Deutschland? 

a) Zahlreiche deutsche Männer suchten in den fünfziger Jahren im Ausland nach 

Arbeit.  

b) Deutschland warb intensiv um Wirtschaftswissenschaftler in anderen Ländern. 

c) Die Wirtschaft wuchs unerwartet schnell in der Bundesrepublik Deutschland 

nach dem Ersten Weltkrieg 

d) Ausländische Arbeitskräfte waren für Deutschland angeworben.   

      

4. Wie fühlen sich die Ausländer jetzt in Deutschland? 

a) Nachkommen der „Gastarbeiter“ verstehen deutlich, welche Heimat und 

Muttersprache sie haben. 

b) Vor allem Kinder und Enkelkinder der zugewanderten Gastarbeiter leiden 

unter Identitätsproblemen. 

c) Nur Türken haben es besonders schwer, sich in Deutschland zu integrieren.  

d) Heutzutage gibt es ein erfolgreiches Nebeneinander von mehreren Kulturen in 

Deutschland. 

 

5. Welche Sprachfähigkeiten haben die Zuwanderer?  

a) Die Gastarbeiter in Deutschland können beide Sprachen sehr gut.  

b) Gastarbeiter sind sprachlos. 

c) Nur wenige Zuwanderer beherrschen die deutsche Sprache fließend. 

d) Viele Zuwanderer verwenden ihre eigene Muttersprache im Gespräch mit 

Deutschen.    

 

2. Aufgaben 6-10. Sind folgende Aussagen richtig oder falsch? Kreuzen Sie an! 
 

6. Immer noch sehen die Deutschen ihre ausländischen Mitbürger nicht als vollwertige 

Mitglieder der deutschen Gesellschaft an.  

Richtig    Falsch 
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7. Zu wenig Arbeitskräfte standen der stark wachsenden Wirtschaft zu Verfügung.  

Richtig    Falsch 

 

8. Zafer Senocak gehört zur vierten Generation der Gastarbeiter in Deutschland. 

Richtig    Falsch 

 

9. Viele türkische Zuwanderer sprechen weder richtig Deutsch noch richtig Türkisch. 

Richtig    Falsch 

 

10. Man versteht unter „Integration“, dass von Zuwanderern erwartet wird, ihre kulturelle 

Herkunft zu verstecken.  

Richtig    Falsch 

 

Aufgaben 11-25. Lesen Sie den Text und kreuzen Sie für jede Lücke (11-25) die richtige 

Variante (A, B, C oder D) an. Tragen Sie Ihre Lösungen in den Antwortbogen ein. 
 

Klagen über schlechten Service sind in Deutschland an der Tagesordnung. Doch einiges 

hat sich (11) … . Dank betriebsinterner Schulungen sind (12) …  unzufriedene Postbeamte, 

Schaffner oder Verkäufer meist freundlich und (13) … . Wenn man allerdings überhaupt 

einen von ihnen zu Gesicht (14) … . Es ist nämlich so, dass vom Supermarkt bis zur Bank 

der Kunde Aufgaben des Personals (15) …  muss. 

Obst und Gemüse werden selber (16) … , in einigen Supermärkten zieht der Kunde seine 

Ware allein über die Scanner-Kasse, in den Banken tippt man seine  (17) … in das 

Computerterminal und Möbel werden zu Hause (18) … schwer verständlicher  (19) 

…  zusammengeschraubt.  

Wer Service oder Hilfe will, muss große Preisaufschläge in (20) …  nehmen.  (21) 

…  Fahrkarten im Internet gebucht oder Rechnungen per Mail zugeschickt werden, sparen 

die Betriebe (22) …  Kosten der Verbraucher. Denn (23) … Kleinigkeiten wie der (24) … 

von Strom, Papier und Druckerpatronen summieren sich für den Kunden, der (25) 

…  Onlinetickets, Kontoauszüge oder Rechnungen am heimischen Rechner ausdruckt. 

 

 A B C D 

11.  erneuert geändert umgestellt verwandelt 

12.  dereinst dermal keinmal einstmals  

13. hilfsbereit hilfsbedürftig hilflos hilfsunwillig 

14. bekommt  erreicht findet  hat 

15. abnehmen aufnehmen einnehmen übernehmen 

16. abgewogt abgewogen abgewiegen abgewiegt 

17. Umstellungen Übersetzungen Überweisungen  Überführungen 



51 

 

18. mithilfe dank aufgrund infolge 

19. Anzeichen Anleitungen  Anzeigen Vorschriften 

20. Anspruch Betracht  Kauf Rücksicht 

21. Damit Als Denn Wenn  

22. über an auf mit 

23. erreichbare scheinbare lösbare  lesbare 

24. Verbrauch Gebrauch Volksbrauch Missbrauch  

25.  gemäßigt gleichmäßig regelmäßig verhältnismäßig 

 

 

Aufgaben 26-50. Ergänzen Sie die Sätze, indem Sie eine der Varianten (a,b,c oder d) 

wählen. Tragen Sie Ihre Lösungen in den Antwortbogen ein. 

 

26. Ohne Fleiß, __________ Preis. 

a) Null 

b) kein 

c) ein 

d) nix 

27. Fremdwörter sollten im Aufsatz   __________  werden. 

a) vermieden 

b) vermeidet 

c) vermiedet 

d) vermeiden 

28. Es entstand ein __________ Streit in meiner Gruppe. 

a) warmer 

b) angeheizter 

c) hitziger 

d) verheizter 

29. Für ihn geht es um Kopf und __________  . 

a) Krawatte 

b) Schlips 

c) Kragen 

d) Unterhemd 

30. Glück und Glas, wie leicht __________ das. 

a) zerbricht 

b) zerscheppert 

c) spaltet 

d) bricht 

31. Für Hercule Poirot ist jeder Fall __________ . 

a) lösbar 
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b) löslich 

c) lösend 

d) löshaft 

32. Wir wurden vom Erdbeben  __________ überrascht. 

a) integral 

b) total 

c) kausal 

d) terminal 

33. Sein __________ Tun bringt ihm wirklich nichts ein! 

a) geschäftiges 

b) beschäftliches 

c) geschäftliches 

d) geschäfthaftes 

34. Sie kaufte bei Aldi __________ Laptop. 

a) ein günstiger 

b) einen günstigen 

c) der günstigste 

d) eine günstige 

35. Dieser Ziegel __________  aus einer römischen Villa. 

a) stammt 

b) gehört 

c) entspringt 

d) entdeckt 

36. __________  rannte er in sein Unglück. 

a) Geblendet 

b) Blindlings 

c) Blind 

d) Verblendet 

37. Thomas ist so stark, dass er __________ könnte. 

a) Tonnen kippen 

b) Felsen werfen 

c) Bäume ausreißen 

d) Berge versetzen 

38. Der Louvre in Paris ist __________ . 

a) absehbarlich 

b) sichtwürdig 

c) sehenswert 

d) unsehnlich 

39. Sabine isst __________ Fleisch noch Geflügel. 

a) weder 

b) trotz 

c) nicht 

d) kein 

40. Er übernahm die  __________ dieses Projekts. 

a) Patenschaft 

b) Patentschrift 

c) Patrone 
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d) Patria 

41. Es war eine __________  Krankheit. 

a) langwierige 

b) beschwerige 

c) langweilende 

d) lanweilige 

42. Sie amüsierten sich __________  darüber. 

a) kostbar 

b) verköstigt 

c) köstlich 

d) köstig 

43.  __________  uns das Thema wechseln! 

a) Lässt 

b) Macht 

c) Ließ 

d) Lasst 

44. Mach dir __________ keine Sorgen! 

a) wegen dem 

b) dessentwegen 

c) deswillen 

d) wegen des 

45. Er __________ zwei Bilder an die Wand. 

a) hing 

b) hängte 

c) henkte 

d) hangte 

46. Er hat ein __________  Leben hinter sich. 

a) verwegtes 

b) gewiegtes 

c) gewagtes 

d) bewegtes 

47. Die Katze lässt das  __________ nicht. 

a) Mausern 

b) Lausern 

c) Mausen 

d) Flausen 

48. Mit seinen Fähigkeiten findet er überall sein __________ . 

a) Brot 

b) Vermögen 

c) Hungertuch 

d) Fleisch 

49. Endlich waren ihre Mühen vom Erfolg __________  . 

a) verwöhnt 

b) gekrönt 

c) betont 

d) gelöhnt 

50. Das Feuer  __________  noch lange. 
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a) schwall 

b) schwellte 

c) schwelte 

d) schwoll 

 

Испанский язык 

 

Вариант 1 

 

I. Lea el texto dado. 

 

Benicio Del Toro nació en Santurce (Puerto Rico). Iba para abogado pero la 

interpretación se cruzó en su camino y se marchó a Hollywood. “En realidad siempre me 

parecieron trabajos muy parecidos”, bromea. Mostró por primera vez su cara ojerosa al gran 

público en “Corrupción en Miami” y tuvo un diminuto papel en “Huevos de Oro” de Bigas 

Luna. ¿Pero quién se acuerda ya de eso? Un Óscar, un Globo de Oro, innumerables premios 

de la crítica... La leyenda del Toro no ha hecho más que empezar. 

El soltero más deseado, aunque con una hija de 8 años, y una de las cincuenta 

personas más guapas del mundo, es un hombre tímido que nunca habla de su vida privada (se 

le conocen un par de romances con actrices). Vive en un pequeño apartamento el cual 

describió como su "cueva" en West Hollywood, atestado de libros, CDs y películas que se 

apilan desde el suelo hasta el techo. Hay tanto desorden y tan poco espacio que Benicio ha 

alquilado una casa para reuniones de negocios y para sus proyectos. La palabra “glamour” no 

va con él, pero no hace asco a los Armanis cuando hay que recoger algún premio y no duda 

en codearse con las estrellas más rutilantes cuando se trata de una buena causa. 

“Después de “Miedo y asco en Las Vegas” me dieron muchos palos. Seis meses 

después del estreno, un colega me preguntó si había salido ya de rehabilitación, porque se 

decía que consumía drogas masivamente. Era falso. Pero si la gente quiere pensar eso de mí, 

adelante, ellos son los estúpidos". Su visión de las drogas no es permisiva: “Lo que pretenden 

las películas es que miremos al problema con un poco más de formación. La idea es que si 

consigues sacar a los chicos de las calles y educarlos en algunos aspectos, estás trabajando en 

la dirección adecuada. Mi personaje utiliza el béisbol para que los chicos dejen de 

vagabundear y hagan algo productivo”.  

Toro se empeña en ofrecer una perspectiva más realista de la violencia en el cine, 

como en la película “Secuestro infernal”. “Hay que usar las armas con más respeto y 

comprender lo que son. Yo fui a una escuela para aprender a manejarlas, y debería hacer eso 

todo el mundo antes de dicidirse a comprar una. Se han hecho muchas películas sobre armas 

que hacen reír a la gente, y son divertidas, pero creo que si haces filmes con armas, debes 

enseñar algo. Creo que la ley debería obligar a las películas que juegan con armas a mostrar 

el horror que pueden causar”. 

“El hecho de que mi nombre sea Benicio Del Toro no significa que solo se puede 

pensar en mí como actor hispano. Desde luego, no tengo ningún problema en hacer 

personajes latinos, como es lógico, y los haría más a menudo si estuvieran mejor escritos. Yo 

solo quiero actuar, pero en Hollywood todo es cuestión de imagen y publicidad. Cuando 

comencé, querían cambiar mi nombre porque sonaba demasiado puertorriqueño. Querían 

llamarme Benny Dell. Yo soy puertorriqueño, y eso no pueden cambiarlo, aunque me 

cambien el nombre. Les dije que o aceptaban mi origen o se buscaban a otra persona... 
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Cuando nos mudamos a Estados Unidos – cuenta el actor – yo seguí hablando en español con 

mi padre, así que en mi familia somos bilingües. Es cierto que para mí es más fácil hablar 

sobre cine en inglés, porque lo he aprendido todo en inglés sobre este tema. En español tengo 

que buscar palabras y me cuesta un poco más”. Por eso Del Toro está especialmente 

orgulloso de haber conseguido el Óscar al Mejor actor secundario con un personaje que habla 

en castellano por primera vez en la historia de Hollywood. 

  

 

1)  Escriba la letra de la respuesta correcta. 

 

1) Benicio Del Toro 

      a) nunca se relaciona con las estrellas 

      b) está casado con una de ellas y tiene una hija 

      c) no ha tenido muchos romances 

      d) se reúne a menudo con gente famosa 

  2)  La película “Miedo y asco en Las Vegas”  

       a) tuvo mucho éxito 

       b) desató muchos rumores infundados 

       c) provocó la adicción del actor a las drogas 

       d) le ayudó a empezar a practicar el béisbol 

 3) Según Benicio Del Toro, las armas  

       a) necesitan ser usadas con más cuidado 

       b) deben presentarse en las películas de risa 

       c)  deben presentarse en las películas de horror 

       d)  no deben ser manejadas en una escuela especial 

  4) ¿Por qué se negó al nombre de Benny Dell? 

       a) porque no sonaba como puertorriqueño 

       b) porque su imagen no coincidía con él 

       c) porque así no podría hacer personajes latinos 

       d) porque rechazaba cambiar su procedencia latina 

  5) Benicio Del Toro 

       a) habla dos lenguas con la misma soltura 

       b) solo habla el español puertorriqueño 

       c) le cuesta hablar español cuando se trata del cine 

       d) solo interpreta a los personajes que hablan español 

 

2)   Señale con una cruz la respuesta correcta Verdadero o Falso. 

 

6) Al principio trabajaba de abogado.  

VERDADERO 

FALSO 

 

7) Su apartamento carece de libros.  

VERDADERO 

FALSO 
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8) Después de la película ¨Miedo y asco en Las Vegas¨ Benicio Del Toro tuvo 

muchos problemas de salud.  

VERDADERO 

FALSO 

 

9) Es recomendable que las películas con las armas tengan un enfoque didáctico. 

VERDADERO 

FALSO 

 

10) Al actor le interesa más la interpretación que la promoción de su imagen. 

VERDADERO 

FALSO 

 

 

II.  Para los nn 11 -25 lea el texto dado y decide qué variante a), b), c) o d) 

conviene más en cada caso.   

 

Miguel es un niño especial. Con tan solo nueve años, ya es universitario. Tiene un 

coeficiente intelectual ____(11) a doscientos puntos. Y los expertos consideran a una 

persona superdotada a partir ___(12) ciento treinta y dos. Miguel es, sin duda, el alumno 

más joven de su universidad. Todos los días acude ____ (13) este centro para estudiar 

antropología, junto a unos compañeros que, en algunos casos, le triplican la edad. 

Carolina, su madre, una señora de treinta y cinco años, ____ (14) de casa, nos cuenta 

orgullosa que Miguel comenzó a leer a los ocho meses y que antes de ____ (15) catorce, 

ya sabía los nombres de cincuenta productos que se pueden comprar en el supermercado, 

simplemente de verlos ____(16) en televisión. 

Pero eso no es todo. Este niño prodigio leía todo ____(17) encontraba en casa, de 

modo que sus padres, cuando _____(18) que castigarlo por ____(19) razón, le quitaban 

los libros y le ordenaban que se ____(20) a jugar. 

Miguel ___ (21) en el instituto a los cinco años e hizo los cuatro cursos al mismo 

tiempo. Se diplomó en geología y en la actualidad, ____ (22) nueve años, hace pocas 

semanas ____(23) la carrera de antropología. Aunque Miguel tiene el ____(24) de un 

chico muy estudioso, es en el fondo un niño como ___(25) otro, al que le apasionan los 

videojuegos y los cómics; un niño que, cuando sea mayor, quiere ser presentador de 

televisión.  

 

 A B C D 

11 superior    mayor   máximo    más 

12 desde con    a     de 

13 a en por hacia 

14 dueña señora    ama mujer 

15 cumpliera cumplir   cumpliendo cumpla 

16 advertidos anunciados publicados vendidos 

17 que lo cual                 el que                    lo que 

18 tuvieron   tenían tienen habían tenido 

19 alguno                algún     alguna     alguien 
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20 fuera    haya ido              vaya   hubiera ido 

21 matriculó     ingresó    asistió   se graduó 

22 a de con en 

23 ha iniciado         hubiera iniciado había iniciado       iniciara 

24 parecido      aspecto    modo imagen 

25 un cualquier   algún     alguno 

 

III. Corrija las oraciones siguientes. En cada oración una parte está subrayada. Para 

las oraciones de 26 a 35 seleccione la versión que considere la más adecuada según las 

normas del español literario.     

 

26. ¿Cuál de estas palabras tiene un sufijo diminutivo? ___ 

a) utensilio b) casona 

c) transeúnte d) lagartija 

 

27. ¿Qué palabra no es de la misma familia?    ___ 

a) ferretería b) herradura 

c) heredar d) hierro 

 

28.    Una de estas cosas afila los lápices. 

a) sacapuntas b) tijeras 

c) estuche d) martillo 

 

29. Solo una de estas frases es correcta. ___ 

a) Juan dice que trabajaba 2 años en Asia. b) Juan dice que había trabajado 2 años en 

Asia. 

c) Juan dice que haya trabajado 2 años en 

Asia 

d) Juan dice que trabajó 2 años en Asia. 

 

30. Siempre lo pasas ____ alto. 

a) en b) para 

c) por d) de 

 

31. ¿Cuánto cuesta exactamente el tranvía? – No tengo ni idea, pero ____ 2 euros. 

a) costaría b) costará 

c) cueste d) cuesta 

 

32. Si ves a María, ___ dices que me llame. 

a) la b) le 

c) se la d) se lo 

 

33. ¿Cómo se llaman las carreras ante los toros? ___ 

a) encierros b) cerraduras 

c) ceniceros d) domingueros 

 

34. Laura tiene mucha cara, todos lo saben: significa que es___ 
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a) insolente b) adinerada 

c) guapa d) simpática 

                    

      35. La habitación donde se guardan las cosas se llama ___. 

a) pasillo b) antesala 

c) trastero d) despacho 

  

                    IV. Marque y corrija los errores en el texto (a, b, c o d)  

36. El cambio climático está la preocupación prioritaria para los europeos. 

a) cambio b) está 

c) para d) los 

 

37. Una vida nunca sustituye a otra, pero que la sucede. 

a) sustituye b) a 

c) pero d) la 

 

38. Cuando tropiezo a mis viejas fotos, me sorprende lo mismo: en todas aparezco con una 

sonrisa estúpida. 

a) tropiezo b) a 

c) viejas d) aparezco 

 

39. Me dijo que conocía la tienda porque ya estaba allí antes. 

a) conocía b) la 

c) estaba d) allí 

 

40. Para el cumpleaños de su mamá compró un enorme ramo de las rosas y se lo entregó. 

a) para b) el 

c) las d) se 

 

V.  Ponga el acento donde sea necesario. 

                                             

41.  angel                             

a) angel 

b) ángel      

                                              

42. fue                                   

a) fue 

b) fué 

                                              

43. examen                      

a) examen 

b) exámen 

 

                                         

44. construcciones          

a) construcciones 
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b) construcciónes 

                                         

45. vehiculo                     

a) vehiculo 

b) vehículo 

                                         

46. Luis                            

a) Luis 

b) Luís 

                                         

47. anulasteis                   

a) anulasteis 

b) anulásteis 

                                         

48. frio                             

a) frio 

b) frío 

                                         

49. reloj                            

a) reloj 

b) relój 

                                         

50. linea                           

a) linea 

b) línea       

 

Вариант 2 

 

I. Lea el texto dado. 

La educación en España está financiada por el Estado y es obligatoria entre los 3 y los 

16 años. A pesar de esto, son los padres o los tutores legales de los alumnos los que deben 

pagar en su mayoría el material escolar, los libros de texto, los uniformes de la escuela, etc. 

Por lo general, hay tres tipos de escuelas: las públicas, financiadas en su mayoría por el 

Estado; las privadas, financiadas internamente; y las concertadas, que reciben una parte del 

dinero del Estado y otra de manera interna. 

En el momento en el que el estudiante finaliza la etapa obligatoria, puede seguir 

estudiando en su mismo instituto en el ciclo de Bachillerato o puede pasar a una Formación 

Profesional de grado medio. Solo los que terminan Bachillerato o una Formación Profesional 

de grado superior pueden acceder a la universidad. 

En España, la etapa de Educación Infantil se divide en dos períodos. El primero, desde 

los 0 a los 3 años, no es obligatorio; por lo tanto, las familias deben hacerse responsables de 

todo o de parte de la financiación del curso. En cambio, el segundo ciclo que dura desde los 3 

hasta los 6 años sí que es obligatorio y, por lo tanto, hay opciones públicas o gratuitas 

disponibles. 

La Educación Primaria en España es lo que todo el mundo conoce por el colegio. Está 

dividida en 6 cursos académicos y tiene como objetivo que los alumnos españoles adquieran 

una educación básica común y sólida en cultura, expresión oral, lectura, escritura y cálculo. 
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Por lo general, sigue una metodología lúdica en la que el desarrollo cognitivo y social de los 

alumnos es el centro de la educación. 

En cuanto a los horarios, lo más normal es que se distribuyan de dos maneras. Algunos 

centros imparten sus clases desde las 9.00 hasta las 17.00, dejando un descanso de dos horas 

entre las 13.00 y las 15.00. En cambio, otros prefieren una jornada intensiva que va desde las 

8.00 hasta las 14.00, momento en el que salen todos para irse a comer. 

En la Educación Secundaria Obligatoria (ESO) en España, los alumnos tienen entre 12 

y 16 años. Por ley, los alumnos deben finalizar los cuatro años de esta etapa, pero si alguno 

repite el curso y tiene 16 años antes de concluir este período obligatorio, puede abandonar los 

estudios si lo desea. 

El objetivo de esta etapa es que los estudiantes formen su propio pensamiento crítico, 

que desarrollen competencias que les ayudarán en su vida de adultos, que aprendan a trabajar 

en equipo, etc. 

El Bachillerato no forma parte de la enseñanza obligatoria, pero ya cada vez más gente 

obtiene el título. Son solamente dos cursos académicos a continuación de la ESO. Está 

enfocado a la adquisición de conocimientos más específicos relacionados con el área que el 

alumno haya escogido: arte, ciencia y tecnología, humanidades y ciencias sociales. 

Estos estudios permiten al estudiante llegar directamente a la prueba de acceso a la 

universidad o a una Formación Profesional de grado superior. 

  

1)  Escriba la letra de la respuesta correcta. 

 

1) El niño de tres años 

 

a) debe ir al colegio en España 

b) no debe ir al colegio en España 

c) tiene clases optativas en los colegios de España 

d)        va al colegio con un tutor 

 

2) Los padres de un niño entre 0 y 3 años 

a) no pagan el colegio 

b) lo educan en casa 

c) pagan el curso completo que hace su hijo en la guardería 

d)        pagan el curso completo de la guardería o una parte del mismo 

 

3) El alumno del sexto grado 

a) estudia en la primaria 

b) estudia en la ESO 

c) tiene el horario de cinco horas diarias 

d)        no aprende las matemáticas 

 

4) Los quinceañeros 

a) aprenden jugando 

b) aprenden a colaborar con los demás 

c) estudian en el Bachillerato 

d)            no pueden dejar de estudiar cuando quieran 
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5) En el Bachillerato 

a) los alumnos tienen un curso de asignaturas elegidas por ellos 

b) los estudios duran tres años 

c) se preparan para los exámenes universitarios 

d)         no hay clases optativas 

 

2)   Señale con una cruz la respuesta correcta Verdadero o Falso. 

 

6) Todos los materiales escolares son gratuitos en los colegios estatales.  

VERDADERO 

FALSO 

 

7) La Formación Profesional de grado inferior no permite a los estudiantes seguir sus estudios 

en el centro de educación superior. 

VERDADERO 

FALSO 

 

8) Al cumplir los 16 años, el alumno puede graduarse del centro de estudios.  

VERDADERO 

FALSO 

 

9) La Formación Profesional de grado superior se obtiene después del Bachillerato.  

VERDADERO 

FALSO 

 

10) Al pasar el curso final el estudiante es capaz de seguir obteniendo educación en un centro 

de enseñanza superior. 

VERDADERO 

FALSO 

 

II.  Para los nn 11 -25 lea el texto dado y decide que variante a), b,) c) o d) conviene más 

en cada caso.    

 

Para Óscar Alfageme las mujeres ___(11) «más capaces, más comprometidas y más 

fieles laboralmente» que los hombres. Es por esto que solo contrata a mujeres en su empresa, 

una forma de disminuir la brecha de desigualdad por género que existe en el mercado laboral. 

 

Actualmente son seis las mujeres que trabajan en Urbión Asesoría-Gestoría Alfageme 

de Covaleda. Todas, ___(12) una, tienen hijos y reducciones de jornada, «un impedimento» 

para muchos, ya que requerirán mayor flexibilidad de horarios y algo que para este 

empresario «forma parte de la vida». 

 

Intenta ser coherente con lo que piensa y ___(13) apuesta por dar oportunidades de 

empleo a las mujeres, «las más perjudicadas por el paro en el medio rural». «Ellas están 

acostumbradas a ___(14) problemas a diario. Trabajan ___(15) casa, en casa, educan a sus 

hijos y cuadran las cuentas de la economía familiar».  
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Este empresario ____(16) que en los pueblos las mujeres solo ___(17) trabajar o bien 

cuidando a personas mayores o realizando labores de limpieza, independientemente de la 

formación que ___(18), y asegura que las dificultades para que accedan al mercado laboral 

«son enormes. En el mercado laboral es la parte débil y las estadísticas lo ___(19)», dice. 

 

Actualmente ___(20) 50% de la población activa de Covaleda está en el paro, debido 

principalmente al declive del sector de la madera y el mueble y ___(21) de numerosas 

cooperativas. Las mujeres,  ___(22) Alfageme, jamás ___(23) acceder a este nicho de 

mercado, debido a que son trabajos que requerían fuerza bruta, y el sector estaba totalmente 

«masculinizado». 

 

El empresario reconoce las desigualdades laborales por género que existen, sobre todo, 

para  las mujeres que han sido madres, y por ello, intenta que la conciliación ___(24) efectiva. 

«Ellas necesitan dedicar tiempo más amplio a su familia y mayor flexibilidad laboral. Van 

más al médico porque la mujer tiene otro ritmo vital y para acompañar a sus niños cuando se 

ponen malos. Cuando se van a hablar con el profesor o al médico no lo cuestiono. Ellas 

recuperan las horas. Si no lo hiciera así, no ___(25) fiel a mis principios y coherente con lo 

que pienso», argumenta. 

 

 A B C D 

11 están    son sean   estén 

12 al menos        menos    por lo menos   más o menos 

13 por eso           porque          hasta                salvo que 

14 resolver         decidir          vencer             ganar 

15 fuera afueras de     fuera de desde fuera 

16 sostiene mantiene    contiene detiene 

17 puedan pueden          pudieran          hubieran podido 

18 tengan             tendrán          tuvieran           tendrían 

19 muestran         demuestran    muestra            demuestra 

20 el   los                  unos                – 

21 la cerradura     el cerrojo        el cierre la cláusula 

22 como               así                   según              desde 

23 han podido      pudieron pudieran           habían podido 

24 es será                  sea                 fuera 

25 fuese                sería                 era                 seré 

 

 

II. Corrija las oraciones siguientes. En cada oración una parte está subrayada. 

Para las oraciones de 26 a 35 seleccione la versión que considere la más 

adecuada según las normas del español literario.     

26. ¿Cuál de estas palabras no denota un recipiente? ___ 

a) azucarero b) salero 

c) tetera d) barrendero 

 

27. ¿Qué palabra no es de la misma familia?    ___. 

a) meritorio b) merecer 
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c) meridional d) mérito 

 

28. ____no es una herramienta 

a) la sierra b) el tambor 

c) el destornillador d) la pala 

 

29. Solo una de estas frases es correcta. ___. 

a) La reunión estará en el salón de actos a las 

7. 

b) La reunión será en el salón de actos a las 

7. 

c) La reunión está en el salón de actos a las 7. d) La reunión sea en el salón de actos a las 7. 

 

30. Te repito que Edu ___ pez en matemáticas. 

a) está b) es 

c) hace d) tiene 

 

31. Dijo que cuando ___ los tres libros, diría cuál era el auténtico. 

a) encontraría b) encontraba 

c) encontrara d) había encontrado 

 

32. ___ hacía calor, se fueron a la sombra. 

a) porque b) así que 

c) por d) como 

 

33. ¿Qué se hace en las Fallas de Valencia? 

a) se queman figuras hechas a mano b) se tiran los tomates 

c) se hacen hogueras de libros viejos d) se celebra la llegada de la Virgen 

 

34. No te andes por las ramas significa ___ 

a) no des rodeos b)  no te vayas 

c)  no te alejes d)  no estés callado 

 

35. La bellota es fruto del ___ 

a) abedul b) roble 

c) abeto d) pino 

 

IV. Marque y corrija los errores en el texto (a, b, c  o   d). 

36. Desde niño soñaba de una bicicleta y una moto. 

a) desde b) soñaba 

c) de d) una 

 

37. Las cartas han sido mandado hoy por la secretaria. 

a) han b) sido 

c) mandado d) por 

 

38. No sospechaba que fuese una comida tal rica. 
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a) sospechaba b) fuese 

c) una d) tal 

 

39. Yo tomo mis cosas y tú las tus. 

a) yo b) tú 

c) las d) tus 

 

40. Mira, cuando mamá vuelva, yo ya comeré. 

a) mira b) vuelva 

c) yo d) comeré 

 

V.  Ponga el acento donde sea necesario. 

                                        

41. timido                       

a) timido 

b) tímido 

                                         

42. imagen                       

a) imagen 

b) imágen 

                                         

43. dio                              

a) dio 

b) dió 

                                          

44. videocamara                

a) videocamara 

b) videocámara 

                                          

45. artesania                      

a) artesania 

b) artesanía 

                                          

46. Suiza                           

a) Suiza 

b) Suíza 

                                          

47. laud                             

a) laud 

b) laúd 

                                          

48. caracteres                    

a) caracteres 

b) caractéres 

                                          

49. supisteis                      
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a) supisteis 

b) supísteis 

                                           

50. mudejar                       

a) mudejar 

b) mudéjar 

 

Вариант 3 
 

I. Lea el texto dado. 

 

Estamos ante Juan Mayorga, el autor teatral español más activo y de mayor 

reconocimiento y proyección internacional. Ha sido traducido a más de 30 idiomas y sus 

obras se representan con asiduidad en los principales teatros del mundo. Incluso una de ellas 

fue adaptada con éxito al cine. Pero su aspiración es totalizadora: ha dirigido dos de sus 

últimas obras, ostenta una cátedra universitaria de artes escénicas y está, según confiesa, en 

permanente estado de insatisfacción, lo que le lleva a revisar lo ya hecho y a experimentar 

con nuevas formas de creación. Esta frenética actividad que despliega consigue dejar hueco 

para la vida familiar y para acudir a donde se le solicita. 

“La verdad es que soy una persona trabajadora, que he estado rodeado de gente 

trabajadora desde pequeñito, que me ha mostrado la importancia de serlo, y me ha mostrado 

que se lo pasa uno mejor cuando trabaja mucho. Que, precisamente luego, cuando uno tiene 

ocio, lo disfruta más si ha trabajado mucho. Y luego, por otro lado, dado que mi oficio 

finalmente ha sido éste de construir ficciones, construir personajes…”, nos cuenta Mayorga.  

Su itinerario hasta llegar a convertirse en autor teatral no es muy común. Se formó 

como matemático y se doctoró en Filosofía.  

“En lo que se refiere a la filosofía, creo, estoy convencido de que todos estamos 

llamados a ser filósofos. Todos estamos llamados a hacernos una vez más las preguntas 

eternas; no conformarnos con las respuestas recibidas. Todos estamos llamados a 

interrogarnos sobre nosotros mismos, sobre nuestra relación con los demás... Creo que el 

mejor teatro, el teatro que yo amo, es acción, es emoción, es poesía, pero también es 

pensamiento. Y siento que el teatro es un lugar para pensar, y para dar a pensar; pero, 

finalmente, el pensamiento que importa en teatro no es el del autor, sino el del espectador.  

En lo que a la matemática se refiere, yo siento que mi trabajo como matemático me ha 

ayudado como dramaturgo, me ha formado como dramaturgo. El matemático es capaz de 

expresar con un teorema muy sencillo realidades muy complejas. El matemático busca 

encontrar la forma común a realidades aparentemente muy disímiles. De algún modo, creo 

que el hombre de teatro trabaja también en esa búsqueda de síntesis”, explica. 

 “¿Qué tipo de espectador requiere mi teatro? Bueno, mi utopía, que de algún modo es 

una utopía que he recibido de los grandes creadores españoles, de Lope, Calderón, de Lorca, 

de Valle, es un teatro que sea al mismo tiempo culto y popular. Un teatro que tenga una 

capacidad de comunicación, pero al mismo tiempo sea complejo. Es decir, no se trata de 

satisfacer las querencias del espectador. No se trata de darle lo que busca. Yo siento un 

enorme respeto hacia el espectador, y, por eso, siento que debo esperar mucho de él. De algún 

modo, si simplemente nos relacionamos con el espectador ofreciéndole lo que el espectador 

busca, satisfaciendo muchas veces sus apetencias de sentimentalismo, de lugares comunes, 

pues, realmente, le estamos faltando el respeto. En este sentido, yo quiero que el espectador 
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goce, pero, de algún modo, también quiero que trabaje. Yo siempre digo que el teatro no 

sucede en escena, sino que sucede en la imaginación del espectador”. 

La educación es también uno de sus temas predilectos, sobre todo el problema de 

educarse la sensibilidad y la imaginación por encima de rígidos y superficiales planes 

educativos. 

“Yo siempre tengo en la cabeza aquella imagen que propone el filósofo Walter 

Benjamin, en cuya obra me eduqué. Viene a decir, en cierto momento, que la escuela no 

debería ser el lugar de dominio de una generación sobre otra, sino el lugar de encuentro de 

dos generaciones”. 

 

1) Escriba la letra de la respuesta correcta. 

1) ¿Cómo entiende la expresión “con asiduidad”? 

a) de vez en cuando 

b) con frecuencia 

c) exclusivamente 

d) recientemente 

2) Juan Mayorga dice que uno goza más de su tiempo libre 

a) al trabajar mucho 

b) en un ambiente trabajador 

c) si trabaja periódicamente 

d) si lo tiene de sobra 

3) Mayorga opina que cada uno en su vida 

a) debería acudir a la consulta de un psicólogo 

b) debería superar su complejo de inferioridad 

c) debería reflexionar 

d) debería fomentar su autoestima 

4) Mayorga quiere que el teatro nos impulse a 

a) liberarnos 

b) actuar 

c) meditar 

d) estudiar filosofía 

5) ¿Cuál es el objetivo de Juan Mayorga en cuanto al espectador? 

a) corresponder a sus deseos 

b) comunicarse con él 

c) hacer todo el trabajo intelectual por él 

d) poner obras de masas 

 

2) Señale con una cruz la respuesta correcta Verdadero o Falso. 

6) Juan Mayorga solamente es popular en el extranjero. 

VERDADERO 

FALSO 

 

7) Sabe conciliar la vida laboral y la vida familiar.  

VERDADERO 

FALSO 
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8) Se considera una persona vaga. 

VERDADERO 

FALSO 

 

9) Su formación de matemático le impidió ser dramaturgo. 

VERDADERO 

FALSO 

 

10) En su opinión, los profesores y los alumnos deberían interactuar.  

VERDADERO 

FALSO 

 

II.  Para los nn 11 -25 lea el texto dado y decide que variante a), b,) c) o d) conviene más 

en cada caso.  

 

El productor español de música Javier Limón dice que “son los afroperuanos los que 

___11 del cajón un instrumento mundial importantísimo y son ellos los que han hecho del 

cajón parte esencial del flamenco”. El cajón ___12, por ejemplo, en el vals peruano, que es 

un vals parecido al vienés. El vals más popular es, sin duda, La flor de la canela, compuesto 

___13 la cantante peruana Chabuca Granda. ___14, ella es una de las protagonistas en la 

historia de la incorporación de este instrumento en la música flamenca. 

En 1977, Paco de Lucía y su sexteto estaban de gira por América Latina. Cuando 

___15 en Perú, el embajador de España en Lima hizo una fiesta en su casa. Allí, el guitarrista 

español vio la actuación de la cantante peruana Chabuca Granda y de su cajonero, Caitro Soto. 

___16 entonces cuando Paco de Lucía vio por ___17 vez el cajón y se dio cuenta ___18 que 

era la percusión perfecta para el flamenco porque su sonido era “más consistente y preciso 

que el de las palmas”. Cuenta el guitarrista que pagó a Caitro alrededor de 75 euros por el 

cajón que él mismo ___19 y que ___20 dio a Rubem Dantas, su percusionista en ese 

momento. En menos de una semana ya estaban tocando con él en los conciertos. 

Cuando regresaron a España dieron un concierto en Madrid y, desde entonces, ___21 

el guitarrista, el cajón entró como instrumento de percusión del flamenco. “Fue como un 

reguero de pólvora. A los seis meses en todas las casas flamencas de España ___22 un cajón. 

Hoy parece que es algo que ___23 toda ____24 vida en el flamenco”. Además, es pequeño y 

cómodo de transportar. Para los flamencos es perfecto porque se puede tener en casa y, 

además, es barato y fácil de construir. Todo esto ayudó enormemente a su ___25. 

 

 A B C D 

11 hacían hicieron    habían hecho                             hicieran 

12 tocan uno toca                       se toca                                       está tocando 

13 de         con       por   en 

14 no obstante          sin falta                       sin embargo                              de hecho 

15 se encontraron   se encontraran             se encontraban                          se habían encontrado 

 

16 fue era es   estuvo 

17 primer   primera la primera                                 el primer 

18 de –                                    a en 
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19 fabricó                había fabricado             fabricara                                   hubiera fabricado 

20 se lo                    le lo                              esto                                          se las 

21 por como                            es decir                                    según 

22 estaba     era   había tenía 

23 ha existido           existió                            existía                                    haya existido 

24 una                       –                                    la cada 

25 descenso               caída difusión                                  fusión 

 

III. Corrija las oraciones siguientes. En cada oración una parte está subrayada. Para las 

oraciones de 26 a 35 seleccione la versión que considere la más adecuada según las 

normas del español literario. 

 

26. ¿Cuál de estas palabras tiene el prefijo negativo? ___ 

a) importar b) ingenuo 

c) ilegal d) introducir 

 

27. ¿Qué palabra no es de la misma familia?    ___. 

a) pétalos b) petrificar 

c) Pedro d) piedra 

 

28. Una de estas palabras significa estupidez ____. 

a) disparate b) maldición 

c) palabrota d) equivocación 

 

29. Solo una de estas frases es correcta. __. 

a) Si vendrás conmigo, te lo contaré. b) Si vienes conmigo, te lo contaré. 

c) Si vengas conmigo, te lo contaré. d) Si vinieras conmigo, te lo contaré. 

 

30. Contigo pan y ___. 

a) vino b) agua 

c) tomate d) cebolla 

 

31. Dijo que ___ de entrar. 

a) acabó b) acababa 

c) había acabado d) ha acabado 

 

32. No me gusta el agua de la botella. – Pues no ___ tomes. 

a) lo b) el 

c) la d) esa 

 

33. ¿Cuándo se comen las doce uvas en España? 

a) en Nochebuena b) En Nochevieja 

c) el Día de los Reyes d) el Día de San Juan 
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34. Está hecho polvo significa ___ 

a) está cansado b) está abandonado 

c) está enfermo d) está sucio 

 

35. Los zapatos de charol son ___ 

a) de ante b) de cuero 

c) barnizados d) estropeados 

 

IV. Marque y corrija los errores en el texto (a, b, c o d) 

 

36. Si serías más serio, comprenderías lo que te digo.  

a) serías b) comprenderías 

c) lo d) digo 

 

37. No te atrevas de decírmelo por segunda vez. 

a) atrevas b) de 

c) por d) segunda 

 

38. Llegué a tu casa para que me echaste una mano con las matemáticas. 

a) llegué b) echaste 

c) una d) las 

39. Ya tienes hecho los ejercicios más difíciles para ti. 

a) hecho b) los 

c) más d) ti 

 

40. Habla más que dos horas al día con los clientes belgas. 

a) que b) al 

c) los d) belgas 

 

V.  Ponga el acento donde sea necesario. 

                                         

41. plastico                       

a) plastico 

b) plástico 

                                         

42. volumen                     

a) volumen 

b) volúmen 

                                         

43. vio                              
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a) vio 

b) vió 

                                         

44. hincapie                      

a) hincapie 

b) hincapié 

                                         

45. policia                        

a) policia 

b) policía 

                                         

46. tesis                            

a) tesis 

b) tésis 

                                         

47. iriais                           

a) iriais 

b) iríais 

                                          

48. regimenes                    

a) regimenes 

b) regímenes 

                                          

49. reunen                        

a) reunen 

b) reúnen 

                                           

50. arroz                             

a) arroz 

b) arróz 

 
 

 

 

 


